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EVMBL (Decean) i wi{H1 @259 RAREA .o....os G121 A4l S0 21 8.

(A) yazal ude (B) Edlgal

(C) a3l olln (D) Hd s udal

?;ﬁ&i?}@-%ﬁéﬁf AURIR (g AdR) adl3 onelld 8, A W AAM ....... AZ A H el
(A) nia (B) Aldi4l

(©) Y (D) GuRlsd U4l As wat 4l

A1 U4 suy ya 3. OL2UR. 241853 G121 AT 2L gl ?

L oudly Baq 2 HYLR & (Peasants and Workers Party of India)
I 244 A 208 (Scheduled Castes Federation)

TIL 29> 43R Y&t (Independent Labour Party) .

A)HATAA 1T (B) Hust 1T 4 111 (C) A T 24 111 (D) I, 1T 241 I
(e 818l anan- wer suf oug Bl ARSA2AA Hereut N 4uss 50 A Qud ... vid
Zeui
(A) Aa381 B (B) el Blosnt
(C) v18HE2121L [(Bea) (D) ueu v U4y
193631 w46 WA oM A AW N6 WM WA a8t 20U oL A 5 ¢,
(A) Lag-1 22 (B) [3ait g2
(C) Y2l Une (D) An wlleioud)
EldleR AAA dunt ... et AR ul ddIEL Led 574 suls YR2$12 AHiud qul,
(A) Sleell (B) HAMAH (©) (D) 513 .
.......... A y1eddld s w2 uartHAAl 2w HlelA 2 482 4 MISHT] Aol el Su‘[.
(A) 22 [Rarn d= (B) AR14=] 41 quei)
(C) % lad &l 241 A-yen (A2) (D) grdia vl
utHAl 43 el Al (Grammy) @Bl .......... A& “Abundance in Millets” (Ml%ﬂﬂi [aga
uyiemi) lld avy,
14] 3% (Ricky Kej) (B) a=ll g

( Al (D) a4l wde

FANE I g IR v afldl “Gegul &ua” (Objectives Resolution) ayf ... LITRRVE )
Leql ] Al .

(A 1943 (1) 1946 (C) 1947 (D) 1949
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Harsha’s military expansion in the Deccan was checked by

(A) Pulakesin I (B) Dantidurga

(C) Pulakesin 11 (D) Mahendravarman I

Jamnagar, historically known as Nawanagar (the new town), was one of the most important
princely states of the in the region of Saurashtra. '
(A) Jadejas’ (B) Solankis’

(C) Chudasmas’ ' (D) None of the above

Which of the following parties were established by Dr..B.R. Ambedkar?
I. Peasants and Workers Party of India

II. Scheduled Castes Federation

I11. Independent Labor Party ‘

(A) I and II only : (B) II and III only

(C) 1 and III only (D) L, Il and III

After launching the Quit India Movement, British officials arrested Mahatma Gandhi, and
confined him in .

(A) Yerwada Jail (B) Bombay Prison

(C) Ahmednagar Fort (D) Aga Khan Palace

presided over the first session of the Progressive Writers Association in Lucknow in 1936.

(A) Rabindranath Tagore (B) Krishan Chander

(C) Munshi Premchand (D) Josh Malihabadi

Damodar Mauzo has received the 57th Jnanpith Award for his contributions in literature.
(A) Konkani (B) Malayalam

(C) Tamil (D) Kannada

Prime Minister Narendra Modi has launched two schemes called Amrit Dharohar and MISHTI
Yojana to revive

(A) Desert Eco System

(B) Ldkes and Ponds

(C) Wetlands and Mangroves

D) Endéngered Species

Prime Minister Narendra Modi penned a song “Abundance in Millets” with Grammy
winner

(A) Ricky Kej (B) Tanvi Shah
(C) Falguni-Shah (D) Tanushree Patel
The famous “()I)jcctlv'cs Resolution” was passed by Jawaharlal Nehru in the year
14) 1945 (B) 1946
1947 (D) 1949
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010. G-l G{HIRBAL YUEL BUR ... auid 4t Sl AU Ay gd.

(A)3 (B) 4 (©)2 (D)1

As AL 60 QRS 284l 100 cusl Rl vl B, A 75 cunsixl ol Ay gl dl udl vy
vilaisuidl Saai auzs gl asd ? ®

\
A)20 B) 15 (C) 25 (D) 12 \G -
( ®/ % A o)

)
ey wia yeladl vl 32wkl | b k! 0
/ &)9 (B) 10 3\“ Y ©on \00; o1z X
9

-8
AR 2
013. sul 2@ ‘wuaely Bydl eajadiqdl ? ab s

_/(A4)6,8,10 (B)7, 24,25 \{}/‘( (C) 10,24, 26 (D) 12, 13, 25
9
01@5 AR Al 173 ue 28 © 217 28Y Ue 17 6. 454 e ldl,
(A)-5 (B) 45
(C)-1 (D) Gualsd WA A5 uet €l
015. Rivaiil 14l 20 Hi &l SIS 25 AvaL ue sl 204 dl 24 iva Qe Sladl ieuan sedl e ?
(A) 0.4 (B) 0.5
©06 (D) GURlS WSl A5 unt ] 3
%
016. Aa:b=2:3b:c=4:56dla:b:cal4l LY 5

JA)4=5:6 (B)8:12:15 Q,L Y 5(5
(©)2:3:4 (D) Gulsd U4 2 uay 'gu"; \0

017. s azg? 31 2400 #i ducudl 20% -l vile 4 8. 7 d axg 31 3600 Hi daawni 20 dl w0 Wefl da

A5l 3 uilz 32dl edl ? @
(A) 20% 151 (B) 10% vl2 QA0 1y
1 (C) 50% 151 : (D) GuRlsd WA 25 vt Al ’b&
N 3 i > o0
018/ 3 16000 0l 254, WA 20% 11 MEL AL €3, F2AL AT euall ay ? q o B*
(A)4 B)S ‘Pof-lo
(€)8 _ (D) Gulsd U4 A5 yey 1) \& > 5 .98 ¥
f - ™
nnfg. A5 #iZQs i “GIVE? Al 13d “HHWD” dld dl “THANKS” dl disd sul el 7 5 @ ¥ E/\ LR #
(A)UGBMLR (B) SGBMLR K®oat
(C) SIBMLT (D) GuAs4 W Aswdl 0 5 o8
02\0._}4’%2»& 5,4,8,16, 10 247 7 -l Hu 204, % @ A¥ il
I VNY (B)7.5 = V
(C)8 (D) GuRlsd WA 25 yat 4l
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Total readings were conducted on the Draft of the Constitution of India.
(A)3 (B) 4
©2 D)1

In a party, there is food for 60 adults or 100 kids. If 75 kids have eaten the food, how many adults
can be catered to with the remaining food?

(A) 20 (B) 15 (C) 25 (D) 12

The average of the first 5 perfect squares is:

(A)9 (B) 10 ©n (D) 12

Which set does not represent a ‘Pythagorean triplet’?

(A)6,8,10 (B) 7,24,25 () 10,24, 26 (D) 12, 13,25

In an Arithmetic Progression, 17th term is 28 and 28th term is 17. Find the 45th term.

(A) -5 (B) 45

©-1 (D) None of the above

Anumtjé‘r is selected randomly from 1 to 20. What is the probability that it will be a prime number?
(A)04 . (B) 0.5

(C) 0.6 (D) None of the above
Ifa:b=2:3andb:c=4:5thenfinda:b:c.

(A)4:5:6 : (B)8:12:15

(C)2:3:4 (D) None of the above

An article is sold for Rs. 2400 at a loss of 20%. What would have been the actual profit or loss if it
had been sold at Rs. 3600? -

(A) Profit of 20% _ (B) Loss of 10%

(C) Profit of 50% (D) None of the above

In how many years, a sum of Rs. 16000 doubles, at the rate of 20% simple interest per annum?

(A4 (B)S

(©)8 ' (D) None of the above
In a codec language, “GIVE” is coded as “HHWD”. What would the word “THANKS” be

coded as?
(A) UGBMLR (B) SGBMLR
(C) SIBMLT (D) None of the above

Find the median of 5, 4, 8, 16, 10 and 7.
(A)7 (B)7.5
©)8 (D) None of the above

[B GR] [P.T. 0. H
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021, adz Pl adz QN & A4 ¢ udz Pl 232 R AL 2w A2l g Bud 77 30w 8 wuR ad: Pl
a2 QA Aflz v udz Pl ad R Al A Adle-dl g (ud 58 3R 8. ud2 Pl ad2 Q ¢ udR
R o oug »igsdl sag wu ?
(A)%4,31.23 (B)% 13,3117 (C)T 15,31 14 (D)%17,31.13

022, AR 21l - HBawn O, 2uoell uin ay oueAl adl Gz, 2l wia ax yd-l d-l G4 s e sl
~gdl. dl wed sl Gur 224l 8 ?

@ 2048
(A) 15 2 @20 o (©) 5l (D) 10 ax

023, =481 321t $eoit AL, LAl 2 GRLIDAL Se0U{HE §E 216 £3L s et 8. dlel 2 Ald sooulu

54 A eRL see1 SRl RN £5L 8, A Al $ebUL 5L GRL SbelHl sHel £8L 8. dl dlan seeuni
e ®?

{-.‘L\[’ . A 9‘6
\S PRI !
(A) 36 (B) 108 @lu (C) 54 3<; ’\%(D)'TZ 2 U.,nn,-'j—%/

024. 60 [Geuellii-it adiui alfls udleaami a1 A1z 91521 243 915902l 2{vaui-Al 2peilviz 3:2 8, 2udledani

AL AR e1sE1AAL vy, et AR sl AvaL sl 5 atR 0. A MALRIAHE 191 AR
915210l Hvan 15 €l dl aotui slsf20H) vy 24 ¢9l ?

(A) 25 (B) 15 (C) 20 (D) 30 EO QL}.
0 5o
025. juiz - 3jeiis Al 2@t sRs vzl wael 90 8. AN WA A 56827 4 > = 2 ?
(A) 25 (B) 30 C)35 _ \\e: D40 &9 i
e
3% )
026. 4 6l AvwAL Q.22 247 Q. AL2A. A 1Y, dl aiwml:?’; Vio 1151) > %
< J(A) @At vl dlu _ (B) iy vl (compositmbeﬁ@v a1
©) ull dy (D) Guse WA s wer 41N € ! 2!
027. -3 Al 2ellsza vl ©. su 6l RE ueansd sl willsae g ond ? @
Ll _ | g 0%y "
16 74— 1042+ 12=18 b oty
(A)+udx 190 B (©)+ 2 - (D) -3 +
0287 4 2ule 16813 vidlen e su wud SHIPUR 2lsal. 2,8 3
1. great 2. grateful 3. greet 4. gratuity
(A)2,4,3,1 (B)2,4,1,3

(O3 2kd——() 4,1,2,3
029. 15 [eilann wied 4%+ 530 W2 g5 1 [Bellag as-ly Guaoy 8, o w1 32a1 qud 204
<@l Gl 594 s uuat v age o 4l 7
(A)15 (B)6 (©) 4 (D)5

030. 2444, 2efld, 2, v1ewd 214 2oy Al Glus waudl 315 s Qo . sgerll Gl -l 5241
U1 & Udq 217U 521 QU3 B, 2l ey el Gl ©, LR

2t 212 6, w51 Gl 1) e & 7 Bl 2t-llet 531 24161 8 udg uga

(A) %Yy (B) v+l (C) ¥i2od (D) ¥igd
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BE [Contd.




021.

022.

023.

024,

025,

026.

027.

028.

029,

030,

Two bus tickets from city P to Q and three tickets from city P to R cost Rs. 77, but three tickets

from city P to Q and two tickets from city P to R cost Rs. 58. What are the fares for cities Qand R
from city P respectively?

(A) Rs. 4, Rs. 23 (B) Rs. 13, Rs. 17
(C) Rs. 15, Rs. 14 (D) Rs. 17, Rs. 13

Today is Arun’s birthday. Five years from today, his age will be thrice as compared to his age
5 years ago from today. How old is Arun today?

(A) 15 years (B) 20 years

(C) 5 years (D) 10 years

In Red, Green and Blue colored boxes total 216 balls are placed. There are twice as many balls in
the Green and Red boxes combined as there are in the Blue box, and twice as many balls in the
blue box as there are in the Red box. How many balls are there in the Green box?

(A) 36 (B) 108 (C) 54 (D) 72

In a class of 60 students, the number of boys and girls participating in the annual sports is in the
ratio 3 : 2. The number of girls not participating in the sports is 5 more than the number of boys
not participating in the sports. If the number of boys participating in the sports is 15, then how
many girls are there in the class?

(A)25 (B) 15 (C) 20 (D) 30
The sum of three consecutive multiples of 5 is 90. What is the largest number?

(A) 25 (B) 30 (C)35 (D) 40
If the LCM and HCF of two numbers are equal, then the numbers must be

(A) Prime Numbers (B) Composite Numbers

(C) Equal N (D) None of the above

The following equation is incorrect. Which two signs should b{:,.gmcrgmngcd to make it correct ?
16x4-10+2+12=18 «“"‘"A

(A)+and x (B) x and —
(C) +and - (D)#an(l-i-
Arrange the following words as per order in the dictionary.

1. great 2. grateful 3. greet 4. gratuity
(A)2,4,3,1 (B)2,4,1,3 (0)3,2,1,4 D)4, 1,2,3

We want to weigh 15 kg. of sugar with only 1 kg weigh stone. What is the minimum number of

times we would use the stone to weigh the entire lot of sugar?
(A) 15 (B)6 (C)4 (D)5

Atul, Anil, Amit, Ajit and Ajay are standing in a row in the order of their heights. Atul is shorter
than Anil but taller than Ajay. Amit is the tallest. Ajit is a little shorter than Anil but little taller

than Atul. Who is the shortest?
(A) Ajay (B) Anil (C) Ajit (D) Atul

(BGR] [PT..
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034.
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ozt w5 Al euadla waRsd DA A 56 Ndopd 8 ?
(A) 295 Rl Ad (By Renunciation)

(B) yuuftadl (By Termination)

(O ¢fl4dl daudl (By Deprivation)

(D) GuRAsd dHIH
OBCs 12 daifls wui 2i-iid Runsdl AUAE (exception) coeeeeee: vitnella YuR wARUH
2005 g1t GAAHT el

(A) 90uL (B) 9141 (C) 9341 (D) 974

. D2 2uden W4 sy Qe / san Rardl siaq il sau 28 AgAIR A 87

1. 2iyeludl iz cisindll Renadl ey Aearni Siua usti whls Qe 2udl astdl .

T1. 20 2L Hrd 5360 2ual - euHidl A Anadl daBs e Re Ad S8 ez ddl
el vt wfls Bl eior dadl waa AL Az aenaidl sidSuel 41ffs Gua-uHL S1%B2
23a-l 539 wdl asiel <l '

(A) " T . (B) Wt 11
(C) Tt T et - (D) T 2i2an 11 6 Hidl 21s wa dl

«52331 eRatdl 529 d Wt WRIRSHL 3O §3% Gl AS L. 2L oot Yo AR GARAL 231
arnel 58 @A 53 7 '

(A) naH adlad] YRR 2L (B) 2ael R afl

(©) 2. A, 2l A (D) dsisuey g AHA

2it s15loudl 208 DAL A4 56 AL/ AL dlou Ad Asldl 8?
1. 574 202uRA A1 5201 W2 L HAS AMAL U2 Az
1L 5a¥-77 IRd ARIR-AL s1U81% HAA

Ayl (B) W= 11
(C) 1 daL 11 o= (D) T2mar 11 6L 3 25 wedl

a2 2z ul RREM uzddl (motions) 2431 121 UL 54 [/ su RaA A 8 ?

L ouzd-dl Aaeul AR UsiRHl AU (closure) Mdid 8,

(1. Rawlasiz (Privilege) adia Wiz {A1 g1 % 29 530 U 6.

11, S5t (Calling Attention) H3ld iA U125 WAL 6l 611 % 2% 53 As 6.

Iv. s12d 21581 (Adjournment) M3l £14& 521 W2 2LOIHT 01691 25 el A ¥ V.
(A) 1, 11, 11 A 1Y (13) A 1, 11243 1Y

(C)Hal (D) HA 1, ARV
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By whi *
y which of the following ways, the people lose their citizenship of India?
(A) By Renunciation

(B) By Termination
(C) By Deprivation (D) All of the above

Resnr\-'atlfms for OBCs in educational institutions, this exception was added by the
Constitutional Amendment Act of 2005.

(A) 90th

(B) 91st
(C) 93rd

(D) 97th

As per Article 28 of the Indian Constitution which of the following statements is/are correct?

1. No religious education shall be provided in any educational institution wholly maintained out of
State funds.

I1. No person attending any educational institution recognised by the State or receiving aid out of
State funds shall be required to take part in any religious education that may be imparted in
such institution or to attend any religious worship that may be conducted in such institution.

(A) Only I (B) Only 11

(C)Both T and 11 (D) Neither I nor I1

Which among the following committees has recommended to add “Duty to Pay Taxes Should also
be a Fundamental Duty of the Citizens” as Fundamental Duty?

(A) First Administrative Reforms Commission
(B) Swaran Singh Committee

(C)J. S. Verma Committee

(D) Chandrababu Naidu Committee

Which of the following pairs is/are correctly matched regarding Union Executive?
L. Article 74 — Council of Ministers to aid and advise President

1. Article 77 — Conduct of Business of the Government of India

(A) Only | : (B) Only 11

(C) Both 1 and 11 (D) Neither I nor 11

Which of the following statements is/are correct regarding different motions in Indian Parliament?
L. InIndian Parliament, there are four types of Closure Motions

IL. Privilege Motion can be moved by the ministers only

1L Calling Attention Motion is moved by the Ruling party members only

IV. Adjournment Motion requires al least 25 members' support to admit it

(A) L 1L, 1T and 1V (B) 11, 1L and 1V only

(C) Fonly (D) I, L and 1V only

[BGR] [PT.O. —u
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vaad) 209 Azl 23 Qd-u 4 46 A dl dlou Ad ANAA B ?

(A) Aa. A, Rad 1@Q - st AL M2 A Yaud- 22t sl A,

@) \\. 3. ot ARR — daudl 1% szl stlsi a1 el R yed-l dldl A,

(©) 2usoNa uAR - €35 Frecuni yaad e w#A wuls bﬂs"{_l.eum-u.

(D) Gus WA A5 w4l
sy oiaely it MARUA Yol Saaufia e RedlA AR £2%A Artiad saui 2uel ?
(A) 671 (B) 6931 (C) T1L (D) 1004

A58 2145 (receipts) R N1 A4 53 [t / sl Quirdl A 8 ?
I 43yl 2uasHi 52ARA 2098 dAl Birt-52330 viasHl wda au 8.
IL 3{l9id 2uas (Capital receipts)Hi p@-il aydl aa RMA (disinvestments)-il awda i 8.

(A) I a2 I1 6id @)Wl

© Al T (D) BuRlsd A4 As ua il

gouA ustzat w2 Auw-u A DA AA 53wy AamindAB?

(A) 3ul32ui w218l © (B Ass prtud TR (G2 Aod JN)ui auRl
(C) A5 e3i w218l - (D) G-Secs+l wil€l

DA-u A4 s el AN S ? |

1. ued] 931 3101 1. dligdl B 1) A0 B IV. sge

(A) A I1, T A4 TV (B) WA I, [T A TV

(C) WA 1 2 1T (D) L 1L, I A IV

ayratd-u sedlzust ged B QAU su Rl e 8 ?

I sedlaust 4o il © 213 apasiat weeayel wll e aHug 8.

11 A8l e 2 Uiz ottaan W d3-i i Qu 504 ada ei-ud 8.

1L 3id sda & 3 A euadly Aizslas Bz aoll Bua Az dui et v s394 wfasa
ANl 24 celaust geud ARq 54 6.

(A) 1, 11 24 11 (B) 3= 11 A4 T

(C) WA 1 244 11 (D) WA 1244 11

el eetse [ad A4 Q4 sut [@udl A 9 7

I gl ol Geilow w1 Wil saasdl WAL 215 © -l GEM YU AHUUU £ QAL HIAUN
i 15,

11z, 2, 2t A s dan (aleee wdlo 2 esadl sisds avue-ll wiglds ¢id ©.

111 wztoul sl el 244 ague wald azadl o segadl 4R 218 At o (patterns)-l a1 53 8.

(A) 1, 11 dut 111 (B) WA 1A 1

(C) A 1 w4 11 (D) WA T2 11

m [BGR] [Contd.
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Which of the fi + .
(A) LM Sin ho'u"“"‘g pairs is correctly matched regarding Panchayati Raj institutions?
(B) PK Thug Vi Committee Nyaya Panchayats should be established for a cluster of villages
n
gan Committee — The Panchayati Raj bodies should have a fixed tenure of four years

C) Gadgil i g
( )distrgict Committee — Establishment of Panchayat Finance and Economic board in every

(D) None of the above

Vhich of i I
;fl[l)t]h?fr the following Constitutional Amendment Act provided special status to Union Territory

(A) 67m (B) 69“' (C) ‘?1“ (D) loﬂth
Which of the following statements is/are correct regarding government receipts?

I. Revenue receipts consist of tax revenues, non-tax revenues.
II. Capital receipts consist of recovery of loans and disinvestments.

(A) Both I and II : (B) Only I

(C) Only 11 (D) None of the above

Which among the following measures is normally undertaken to reduce inflation?
(A) Decrease Repo Rate (B) Increase Cash Reserve Ratio
(C) Decrease Bank Rate (D) Buy G-Secs

Which of the following dance forms are from Gujarat?

I. Palli Jag Garbo II. Vinchhudoe

III. Hudo IV. Kahalya

(A) 11, 111 and IV only (B) I, Il and’TV only
(C) I and 111 only (D) L ILIII and IV

Which of the following statements are correct regarding the Hallisaka dance of Gujarat?

I. The Hallisaka Dance is antiquated and dates back to a vital work of Parsi literature.

II. The dancers form a circle with their hands joined to form a chain.

I11. It is said to have inspired many composite genres in Indian cultural expression, especially
those of the Chhalikya songs and the Hallisaka dance.

(A) L, Il and 111 (B) IT and 111 only

(C) I and III only (D) I and 11 only

Which of the following statements arc correct regarding the handicrafts of Gujarat?

I, The Zari industry of Surat is on¢
Mughal period.

I1. The Rogan, Zari, Tye and die
p'zl“l_'l'l'l‘o.

1L The unique tie and weave method of P

of the oldest handicrafts whose origin can be traced to the
and exclusive Patolas are the State’s graceful textile culture

atola results in identical patterns on both sides of the

fabric.
(A) L 11 and 11
(C) 1 and 11 only

(B3) 11 and 111 only
(D) and 11 only
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044, dn2igian] ARd Yas R aociguand’ A ... Gua-l iyl sia 8.
(A) ¥d WA (B) A adlaz sl
(C) a5l D) 4B 2ar

045. 21%RAdHI el RA DA su Rl a8 ?

Loyl ourdly AR el a3 2lovng Auddle (jdulan) Ausiaa s280 dunsd aslla
2adldlA ABani eald .

11 1877 Hi 2auidld 529 AACIAY A Yoid: A3 AAS1aU a3 nellg 8d.

IIL 34 2Reafa RyBun (s dAasian) wd B85 1730 adl gdo sugd yuoaid slaellad)
st eddni uelia s34 9. '

(A) I, 11 244 111 | (B) A 11 244 111
(C) Mzt T ¥4 111 ; (D) HA T2 1T
046. ‘et eder’ (Nil Darpan) 125 3 3 vl Gaue s+l wctan sl yRRuMA aslv 2 B d .......... GIRL
AL 21 B,
(A) dIRL -1 sigluiuy (B) [0y Bt
(C) 1L -1 8y (D) 6ifl2ig A2
047. DA A4 s 2adL kR st Al vuag qan O 7
(A) B (B) $M21
(C) w1z (D) Gulsd WAL 215 yoL 4dl
048. adteat ud™i 20ddl As WA wa 56 8 ?
(A) edlsa aia (B) taavil aia
(C) 22l £l ana (D) A W2 A
049, HldoA-e8 vuddl 1Ay ‘g sadl 153’ (Dancing girl) RSl .......... gl ¢dl.
(A) 513 (B) il
(C) divy (D) R
050, cuzdui 2z 24 2udan gl duqu sinsuiguR 2lsdl.
1. [(du 1. 34
11 gl IV. 82
(A) I, LI IV, 11 (B) 1L IV, 1, 11
(C) IL 1IN, 1,1V (D) 1L, 1V, 11, 1
[BGR] [Contd.
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044.

045.

046.

047.

048.

049,

050.

The book Siddhahem Shabdanushasan by Hemchandracharya is an exhaustive velume
on

(A) Economics
(C) Grammar

(B) Statecraft
(D) Yogic Life

Which of the following statements are correct regarding the museums in Gujarat?

1. The Ethnology Museum known as Bharatiya Sanskruti Darshan in Bhuj ep|torn|zes the rustic
lifestyles of the Kachchhi village

IL. Kutchh Muscum established in 1877 was originally known as the Anderson Museum

ITl. Famous carved wooden Havelis with rare textiles dating back to the 17th century is displayed
at Calico Textile Museum.

(A) 1, TI and III
(C) 1 and 111 only

(B) IT and IIT only
(D) I and II only

The play ‘Nil Darpan’ that portrays the depressed conditions of the indigo cultivators is
authored by

(A) Tara Nath Bandyopadhyay (B) Dinabandhu Mitra
(C) Tara Nath Ghosh (D) Bankim Chandra Chatterjee

In Gandhara School of Art, which one of the following deities is a prominent feature?
(A) Shiva (B) Krishna
(C) Mahavira (D) None of the above

Which of the following is the only stepwell in Vadodara city?

(A) Helical Stepwell (B) Navlakhi Stepwell

(C) Rani Ki Vav (D) Ra Khengar Stepwell

The ‘dancing girl’ sculpture found from Mohenjo-daro was made of metal.
(A) Bronze (B) Silver

(C) Copper (D) Brass

Arrange the following Europeans in chronological order who had come to trade in India.
I. British

IL. French

L. Portuguese

IV. Dutch

AL ILIV, I (B) LIL IV, I, 11

OIiLuLLIv (D) 1L IV, 1L, 1

[BGR] [P.T.Om



051. Aartd WAz SlulRen 2Als §[3uL (National Payments Corporation of India) (NPCI) EREIDERT]
sut [Qul a9 ?

I. NPCI 2\ RBI dat §-flu-t 615 201212+l udd 9.

11, $u-) 20RRun 2013 vidald AA Not for profit’ (-ist W2 AR) su-ll Al e sami 20dl 8,
11 yRsSs W2 $-225u (UPT) Asasll ueudl A (NPCT) giRt [A5[Rd saumi 2udl 6.

(A) L 11 AL 111 (B) WA 1T 244 111 (C) =L T 244 11 (D) {A T 24 11

052. RBIHL 3t 214202 13- WA st A=A walis A Rriawi wslde 8 7

Loyt Mo Gl 1. Qe

TI1. 20 IV. AHIDS HILIIY Ul
A)HATHALIV (B) *st 11, 111 44 1V

(C) 4L T 244 THT © D)L IL A IV

053. Hdl oionR (A9l DA U4 sun Qe a9 ?

1l o4, wiltis ade(Rs euiza 21 xgadl dx(As evrddl (Initial Public Offer and
Follow up Public Offers) g121 ¢i{l Gaf s2aumi 2ud 6.

11, 3afs 62 New Issue Market (At 2314 2¥2) a3 ua 2invua 8.

TIL 302 61212 (AR 1%R) (Secondary Market) 2 8 3 ol Su-llzdi-l il L0080 (aHl-004)
(Securities) -1l 2215 AU GIRA SIRNGIR A B,

IV, 0508 (2al409)) (Securities) N alis o122 BHd 24 o122+ HidL 24 y2asid 2ul

.  Refldaus.
(A) 1, 1L, 1T A4 1V (B) Hu=t 11, 11T 244 IV
i (C) HALT, 11 41 111 (D) HA I 24 IV

054. “Gold Tranche (Reserve Tranche)’ .......... -l 2deed 69,
(A) @2 6l-s1l B0 wand
(B) 3l Ars-l sl ui-l 245
(C) WTO g2l a-it uedlA Mett sl 2iadl Bz weudl 8.
(D) IMF g12L a-tt 3g0A uelr sl ziadl Rz waudl .

055. -Dal-u 1A sl 22 5320u1d agnH 251 tia Ssu-ll 3l wis el ?
(A) uG (B) HaU3H (C) vyl el (D) %

i 056. G20 [ DA 04 sy Q- / s @Al A O ¥

1. G20l -t ad 199941 s 2udl odl,

11, Guad-D S 1M 22300 G20 218 5L (Troika) - e S-SR, tuRd 24 £ 2ul3s ©.
11, G20 2tadt d-u #od 2eit a2l €3 ol ad g dl ogendl 1d 0,

(A) A | (B) 1, 11 44 111 (C) A 1 2 11 (D) |zt 1 244 111
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051.

052.

053.

054.

055.

056.

je .
z;l:cc:l;)(;fthc following statements are correct regarding National Payments Corporation of India
I. NPCl is an initiative of RBI and Indian Banks’ Association (IBA)

IL. It has been incorporated as ‘Not for Profit* Company under the Companies Act 2013

L. Unified Payments Interface (UPI) is a payment system developed by NPCI

(A) L, 11 and 111 (B) IT and 11T only

(C) 1 and 111 only (D) I and IT only

Which of the following sectors is/are included in the Priority Sector Lending as per RBI direction?

1. Renewable energy

II. Education

111. Housing

IV. Social Infrastructure

(A) I and 1V only (B) I1, 11l and IV only
(C) II and 111 only (D) LIL Il and IV

Which of the following statements are correct regarding Capital Markets?

I. In Primary Markets, funds are raised by Initial Public Offer and Follow up Public Offers

II. The Primary Market is also called as New Issue Market

I11. The Secondary Markets are where existing securities of companies are traded through stock

exchanges
IV. The Primary Market price of securities is determined by the demand and supply of the market

(B) 11, I1I and IV only

(A) L IL Il and IV
(D) I and IV only

(O) 1, I1 and 111 only

«Gold Tranche” (Reserve Tranche) refers to

(A) A loan system of the World Bank

(B) One of the operations of the Central Bank

(C) A credit system granted by WTO to its members
(D) A credit system granted by IMF to its members

Which of the following is not a Rabi Crop under 22 mimdatcd_ minimum support price crops?
(B) Mushroom
(D) Barley

(A) Wheat
(C) Masur Dal

Which of the following statements is/are correct regarding G20?
I. The G20 group was established in the year 1999

I1. During India’s Presidency, the members of the G20 Troika arce Indonesia, India and South

A frir:a
I11. The presidency of G20 rotates between the member countries after every two y

(B) I, Il and 111
(D) I and 11 only

cars

(A) I only
(C) Il and HI only

[PT.O. E

[BGR]



057. D3 14 sl AR cuaui wyQlod silsy 2 iaedlse [AlBe Guallad @ddl dun ugls)
W2 ynoyd Ruasd e y3ul 8 7

(A) Asu[s A w23l 1958 (Scientific Policy Resolution (SPR), 1958
(B) 28 :ARRUM, 1962 (The Atomic Energy Act, 1962)

(C)waug &ild 2 1R e »1AMUH, 2010 (The Civil Liability for Nuclear Damage Act, 2010)

(D) Rz, asNA A 450 A, 2013 (The Science, Technology and Innovation Policy, 2013)

058. ‘UMANG’ Hioudd AuellZaiq 9ot ......... W12 Quai 9.

(A) Unified Mobile Application for New-age Governance
(B) Unity Mobile Application for Novel Governance

(C) Universal Mobile Application for Novel Governance

< (D) GURSAUA s v dl

059.

Aand Aldey A2as (NKN) AL 2221 %0 saiiql PoP (WiS+2 2ils A1) 2a0u- s2aimi 24d) 6
WA e ol 2yel s1id 9.

(A) A 2013 (B) 2l2re 2013 (C) BAwiz 2014 (D) geus 2015
060. NA-1 WA £ Suar A w2l Alell 2ileg wmw wd 9 ?

B
(A) CNG (B) 312 S (C) Slaxil D)LPG ‘2%
061.

. \
b
Big 2004l ald A i 10 ad s, 4 Ballle: uld sas-l 330 i 53 8. alzd B ol 12 avd
~ 35 o Rauni, 6 Edillzz uld scisAl 30 uan a2 53 9, alzd A 2 Aldd B visefload 32en qed

yag ? > 3 |
(B) 3 a2l wi% (C) 6 A uiR (DY ;-kégaa%q}#@

IR
062. AR dvuizi-l »awil 234 9. 4 uddl 214 ol Avuidl Juinz 4:5 O u1d olle A N Wl
ez 8:9 6, dl ollen v g,

(A) 4 uzd Wi

x0T :
. g ¢ 13
(A) 60 (13) 80 (C)64 1 - (128 e
L A i
e ot A el o = U e L T
063. A dxAlzd-l 225 szt - yals Wl la di 24 Q-8 2zl (:élh?i QUL S2at AoRUR ol 9k ?
AT (B)Y

(€) 6 ()8

064. At as(uis A A B O, A vis A uidls [aendlolid vis 1w silsacun] 20d dl o visui Rendlzi- v

Auit A, Vs Bl 10 [endlziid vis A wi sl saami sud dl vis A Wi i 52 [endluii-il 2ivat
ol . dlvis A i [aendloiidg)l deal szl wg) 7

o 1 ‘:‘B
(A) 50 (13) 40 it l:’o
el
(C) 65 (D) GuRisd W4l erdk
| sarifl
[ 16 (BGR]
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057.

058.

059.

060.

061.

062.

063.

064.

Which of the following Act provides the basic regulatory framework for all activities related to
atomic encrgy programme and use of ionizing radiation in India?

(A) Scientific Policy Resolution (SPR), 1958
(B) The Atomic Energy Act, 1962
(C) The Civil Liability for Nuclear Damage Act, 2010

(D) The Science, Technology'and Innovation Policy, 2013 2549
‘ X
The mobile application UMANG stands for . \qe
(A) Unified Mobile Application for New-age Governance Y
(B) Unity Mobile Application for Novel Governance 3 yb‘
. . C) 2
(C) Universal Mobile Application for Novel Governance

D)N f the abov
(D) None of the above :&
Gujarat State Level PoP (point of presence) of National K owlec?é Network (NKN) has been

established and made fully functional since

(A) May 2013 i (B) August 2013 Lo 0
(C) December 2014 R ‘; o (D) July 2015 . i s
. R ¢\ o R\
Which of the following fueiL\s hamipiiium Nitrogen content? e \

(A) CNG \> \ (B) Gobar Gas
" (D)LPG

(C) Coal

Person A starts from a place at 10 AM and travels at a speed of 4 kmph. Person B starts at 12 noon
and travels at a speed of 6 kmph in the same direction as A. At what time will A and B meet?

(A) 4 PM (B)3 PM (C)6 PM (D)5 PM
The sum of three numbers is 234. If the ratio of the first to the second is 4:5 and that of the sEgun(l
to the third is 8:9, then the second number is: ﬁ(& C‘:\g
(A) 60 (B) 80 (C) 64 5 35 (D)128 6o Lo

: 35 )
How many rectangles can be drawn wis 24 cm as the perimutcr.’ﬁjnlmt the sides are pnstrfg
. - I ) Nl <
integers in cm? o E) A€ e
(A)7 | B9  he L\’fo (©) 6 ‘ (D) 8

,*4/ /5;

éslutlcnts are sent from A to B, then the number

There are two class rooms A and B.CIf
of students in each room is the same. If 10 students are sent from B to A, then the number

of students in A is double the number of students in B. What would be the number of students in

roomA ?

(A) 50 (B) 40

(D) None of the above

() 65
[BGR] [PW
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065. Wi suil-L 2 — 33, 2, A5, WHsu A @Al uizi siRefllaAlai, s ) gndl, AAs eAawi, 93
Rl AR AUAHT BteuL B
v "
1. A6 wa S8 6ur g 4ol | @l 38)
2. 34 217 1l a2 A sl el 6, IR

3. g% U 18l a4 O, & oM, YA

4. 3134 ol sRelHi QAL B, “ﬁ r?_.s) ,_“Eq c-n'):ﬂ -
sl oo WA suL s Ul el 97

(A) A=Al i (B) AHs0

(©) 3 " (D) @u:a&d QA 245 yo 4]

6. /A x=/7- /6,y=/6- f**l:tz J10- /8, dl DAxid) sy R weu d ?
Ax<y<z B)y<x<z

(C)z<y<x & e (D) GuRlsd YA As el -

067.—/ g X L Bud €2 q'?'t 50 ;[ﬁ.m gedl al O, FUR arq Y -l Bud €2 a¥ 30 3R Fedl af 8. As a¥
azg X -l (Bud 200 301 213 avg Y -l Bud 350 3R 8. S2cn av uhl azg X | Bud axg v -l Bud
2l 50 3Rt am wd ?

(A)5 (B) 10 e (C)1g I*j,_,;cgzgﬂ)?s

068. 3WXI1Z874H34#T106G57RL2 &
Gu2 salda guad gl A ol by o) 22014 s 2, 6, 10, 14 1419 U1 w21l 215 AAAHR

vidl® wee sl 2ud, di A ol v R sl gl ! e T3 LETWVT
(A) G (B) 1 -~ (OL- (D) T .
069. /% & 3uudl px + 3y = 6 2L 3x + p = 4 2Asellon 4 det dly, dl p -l Bud QEERH&{ 1
A1 (B) 1/3 | e
(C)-1 (D) GuRlsel WA A5 w4l

070, /»yell WA n Wil 24 m 501D, €35 WAL 5 50l Aviwdll 5 fatfﬂ afl 89, &35 Wi 6 sull Awauell

194 atiztl 28 6, Ul 249 sull-) dival 24, .
(A)n =11, m= 060 (B) n=10, m =50 J\s\

(C)n=12,m=65 (D) Gudsa 19 25 uat Al Ry k""

071, [zl yd deust 22,23 art ndl dauaziaand [ @ss sut sirdla adl 22l ?
(A) el (13) wtult (C) UYL (D) 1251
072. #eoAd [ae, w1 s A 2 [ Raadl oddl sudla Q3 sigiéu AR AU 55
THAML ael das Huedl edl ?
(A) sllsAdla (3551 o1120) (B) g3l
(C) 92121 (Shooting) (D) o{s[ren
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065.

066.

067.

068.

069.

070.

071,

072,

Five fruit juices - mango, orange, apple, guava and litchi are kept in five jars, in a row, from left
to right, as follows:

1. Guava is not on either extreme.

2. There is one jar between mango and litchi,

3. Apple is placed on the left side of orange.

4. The second bottle from the left contains litchi.

Which juice is there in the middle bottle?

(A) Litchi (B) Guava

(C) Mango (D) None of the above

If x=/7- V6,y=+/6- /5 and z=/10- /8, which of the following is true?
(A)x<yp<z (B)y<x<z
(C)z<y<x (D) None of the above

The price of commodity X increases by Rs. 50 every year, while the price of commodity Y increases
by Rs. 30 every year. In a given year, the price of the commodity X is Rs. 200 and that of Y is
Rs. 350. After how many years, the commodity X will cost Rs. 50 more than the commodity Y?
(A)5 : (B) 10 -
©n (D) 15

r
IWXIZ874H34#T106G57RL2 .
Refer to the above sequence. If the letters in the position 2, 6, 10, 14 and 19 from the right are
picked to form a meaningful English word, then the middle letter of that word would be:

A G B)1

L DT

If two lines px + 3y = 6 and 3x + y =4 are perpendicular to each other, then what is the value of p ?
A1 - (B) 1/3

(C)-1 (D) None of the above

There are n boxes and m fruits. If we put 5 fruits in each box, 5 fruits will be excess. If we put 6
fruits in each box 1 box will be excess. Find the number of boxes and fruits.

(A)n=11, m= 60 3 (B)n=10,m=50
(C)n=12,m=65 (D) None of the above

Which Indian city made a world record of lighting 22.23 lakh earthen lamps on the eve of Diwali?
(A) Varanasi ' _ (B) Ayodhya
(C) Mathura - (D) Dwaraka

The Indian team comprising Sarabjot Singh, Arjun Singh Cheema and Shiva Narwal secured a
gold medal at the Asian Games in Hangzhou in which sports?

(A) Boxing (B) Wrestling

(C) Shooting (D) Badminton

[BGR] [PT.O. m



073. 20234 2idl2 Rt 2taan B Rstirig A4 WRARS iysd Ad siedl 54151 (Katalin Kariko) 13
§ A5 (Drew Weissman)R QAL cvvvunee.. 8241 51 12 2rtUd S2UMT U,

(A) 2aiS8x € amru | (B) mRNA &l
(C) Hra Gesild (D) QA2 512 2wRUR
074. HRa 12 AR Q4 Andurglu 20234 uorirt we su1 AR 55 e ?
(A) #Rx=u (B) MRuis (C) ubBn vidun (D) 2uldL
075. ODI (552 aed suni Al 250 40 ellani 1l S8 yd 537
B (A) AR 2l (B) [Qa12 sledl (©) Qs di+: (D) 24+ Hsudd
076. 2023 AR U 5134 (2023 Asian Para Games) Hi A6 Uit 5] MR WL ey o ?
(A) HuH B) Redlu (€)Y (D) uiny
077. *uadld WRzua{ 2L (The Competition Commission of India) (CCI) 3 sui 3-flu Hauau
Sl AuAs A 9 ?
(A) A Hauay (B) $u-l tuoidl Hauay
(C) -ueu HAey (D) Aoy 241 Gellot ey

078. ¥HRsL (U.S.) g1t idU ﬂﬂl@d AANsA (Transnationél Criminal Organization) d3l3 Flgaﬂ
sAUE Wagner %2 541 284 6 7

(A) v15eRRdir (B) 11 (€) Rl (D) A2

079. vdass (Semiconductor) 24-1l (design) Gewen (manufacturing) ddl asdlA Qs 2 curdA ABus
g0y oi-taal-t G2eu il Gedloy 21 Gellat didts-l-l ewdlleilell ‘SemiconIndia 20234 vuulos-t
viid s2aHi 21 s,

(A) 2212 (B) AUHELAE (C) aslexn

AR

(D) YR

fl

080. 693 20dlu (et Adld 2023 vud 56 Bed 4% Al (e Yrasr ol ?

(A) Hg™US (B) Heal 2l

(C) 4R a1 waLsla (D) <R wHdl A1t
081. He goes there on horseback.

(A)a (B) an (C) the (D) no article
082, Is he superior me ?

(A) to (B) with (C) than (D) from
083. I'm right, ? (Select the correct question tag)

(A)amn’t1? (B) am not I '? (C) aren’t 1 ? (D)aml?

I 20 | [BGR]
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073.

074.

075.

076.

077.

078.

079.

080.

081.

082,

083.

2023 Nobel Prize in Physiology or Medicine was awarded jointly to Katalin Kariké and Drew
Weissman for their work in

(A) Hepatitis C virus (B) mRNA Vaccines

(C) Human evolution (D) Receptors for temperature

The Asian Women’s Hockey Championship 2023 was hosted in which State?

(A) Odisha (B) Jharkhand

(C) West Bengal (D) Goa

Who scored the fastest ODI Cricket World Cup hundred in 40 balls?

(A) Rohit Sharma (B) Virat Kohli

(C) David Warner (D) Glenn Maxwell

What was India’s position in medal tally of the 2023 Asian Para Games?

(A) First (B) Second (C) Fourth (D) Fifth

The Competition Commission of India (CCI) is a statutory body under which Union Ministry?
(A) Ministry of Home Affairs (B) Ministry of Corporate Affairs

(C) Ministry of Finance - (D) Ministry of Commerce and Industry

The Wagner Group, which was designated as transnational criminal organisation by the US is
from which country?

(A) Afghanistan (B) Iran

(C) Syria (D) Russia

The ‘SemiconlIndia 2023’ was organized in partnership with industry and industry associations

with the aim to make India a global hub for Semiconductor Design, Manufacturing and Technology
Development in ?

(A) Gandhinagar (B) Ahmedabad

(C) Vadodara (D) Surat

Which movie won Best Gujarati Film Award at 69th National Film Awards 2023?
(A) Bachubhai (B) Chhello Show

(C) Char Fera Nu Chakdol ) - (D) Var Padharavo Saavdhan
He goes there on horseback.

(A)a (B) an (C) the (D) no article
Is he superior me ?

(A)to (B) with (C) than (D) from
I’m right, ? (Select the correct (uestion tag)

(A)amn’t]? B)amnotl?

(Cyaren’t] ? (D)yaml?
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084.

085.

086.

087.

088.

089.

090.

091.

092.

093.

094.

The European markets

extremely competitive since the manufacturing capacity of the
Indian market

to improve at the turn of the decade.
(A) arc becoming / begins

(B) have become / began
(C) became / begun

(D) had become / would begin

Unless he done the work to my standards, I him.

(A) will / would not appreciating

(B) have / shall not appreciate
(C) has / shall not appreciate

(D) shall / will not appreciated

If 1 were you, 1 not attend the conference.

(A) may (B) shall (C) would (D) should
Please give me tomatoes,
(A) too much (B) a few (C) a little (D) a lot

Where do you keep the current newspaper ? (Change the voice)
(A) Where are the current newspapers kept by you'?

(B) Where are the current newspapers being kept by you ?

(C) Where have the current newspapers been kept by you'?

(D) Where have the current newspapers being kept by you ?

No other river is as as the Brahmaputra in India.

(A) long (B) longer (C) longest (D) most longest
He exercised on the bike in the gym and thereafter took out the from the cupboard
to note down the duration of the excercise.

(A) stationary / stationary (B) stationary / stationery
(C) stationery / stationary (D) stationery / stationery

ud] A sell zinvil.

(A) adla () Ndln () [adln (D) 2dln
s AL AL =l woz sul © 7

(A) s15%\ (B) 43l (C)2uu (D) &Ll

[ofza1d’ - wonl (a2l sul 9 7

(A) 2l caiad WEl s v +dl (13) QU

(C) =4 (1) Gleust
awfl od” 3lendiol wd viluvl,
(A) WiRddl el wq

(13) WA @sq
(C) 24l 4 %9

(D) A=l [@Quidl Armal

22 (BGR]
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084. The European markets extremely competitive since the manufacturing capacity of the
Indian market
(A) are becoming / begins

(C) became / begun

done the work to my standards, 1 him.
(B) have / shall not appreciate

(D) shall / will not appreciated

to improve at the turn of the decade,
(B) have become / began

(D) had become / would begin

085. Unless he
(A) will / would not appreciating

(C) has / shall not appreciate

not attend the conference.

(B) shall (C) would (D) should

086. IfIwere you,l
(A) may
tomatoes.
(D) a ot

087. Please give me
(B) a few (C) a little

(A) too much
Where do you keep the current newspaper ? (Change the voice)
(A) Where are the current newspapers kept by you ?

(B) Where are the current newspapers being kept by you ?

(C) Where have the current newspapers been kept by you ?

(D) Where have the current newspapers being kept by you ?

088.

089. No other river is as as the Brahmaputra in India.
(B) longer

(A) long
(C) longest ' ' (D) most longest
from the cupboard .

090. Heexercised on the bike in the gym and thereafter took out the

to note down the duration of the excercise.
(B) stationary / stationery

(A) stationary / stationary
(C) stationery / stationary (D) stationery / stationery

091. ] %Asell 2laui),
(A) Badly - (B) Ny () Rl (D) @1l
092, ‘'l el g0 sul 9 ?
(A) 6154 (B) 4l ' (C)ud (D) didl
e el - goge] Q1L sl © 7
“aide U4 215 yat 1l (B) aue
( (D) A
11t v,
/g () el atdq
o (D) Hlzall AR udl
[PT.O.
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095. ‘ou A A2 Alst’ - s8ad-l 2 weudl.

(A) % HIE UL HAGLE il (B) %A it 241 Hddle vl

(C) % i Ul HdA®lE asl (D) & HIE 211 HAE e
096. 1= WA sl dg Ax-ll Yeusiz <l ?

(A) Asus (B) Ay (C) 44 : (D) AHISR
097. % UM Bu aidar udl sala 44 sul a sdau ® ?

(A) ¥4 (B) Gulid ©)wl (D) s¥culdeir
098. M-l 2Ascu-uni-2, &, §, ¢, % - sul N AR D ?

(A)€d - (B) 2% (©) 4 (D) 14
099. ‘A dld 3 uaL, A dl Adl MR . — 20 WlEasl 2512 ALl

(A) [ (B) A@aun (C) @ldds (D) 2ugla
100. N’ o 87 |

(A) A SR (B) ¥HIA

(C) & (D) GuR U4 A5 uw 4\

101, 2uRR Rs Reust sxasN zues Rarl sz Qendl €s ailfis 4w A8 awda 1 Zza 3R
. Aol Yysaai vud 8 ? '

(A) 3L 600 (B) 3L. 900 (C) 3L 1500  (D)3.1200
N 102, areiy seue aleg-1 sunaudl saad Yol smaniedl ?
. (A) a4 2008-2009 4l 2019-2020 (B) ax 2007-2008 2l 2020-2021
(C) ad 2007-2008 41 2018-2019 (D) aX 2006-2007 #l 2020-2021

- wiqyad ol Rl sl sea s w2 alls $df / RragR 32 3R
AWMl B0 9 7

(A) 3L 25,000/- - (B) 3L 50,000/
(C) 2L 75.000/- (D) 3\ 1,00,000/-

- sz sileoald (s [Aewardl gan wgrur “ad §1 A @ do dsu ays dvmg
DAL 574112 DALU1% S A3l A 4y S2e yardl W2 s 2auaHi w0d © 7

. A ant et agad 2 s eud WEL Bl Preen adla disad A W02 wBlag 2itae #14
e wl1d Guzid olloa szal aedl Glu B ?

(A)3 (B) 4 (€)2 (D)5

[BGR] [Contd.




095.

096.

097.

098.

099.

100.

101.

102,

103.

104.

105,

oz Al Az 25t - sdad-l w1 areual.
(A) % HIE U HAGlE AL (B) 2 it il Hasle et
(C) % il Ut HAGlE Hel (D) & Hg 1A Hdole ual

Q2 14 sul g qHRl damsi: dl ?

(A) dslus (B) AU (C) 144 (D) HMSI12
3 i Bar ardar adl safaw A sul dHR sdau 8 ?

(A) YUY (B) GulRd (©)wle (D) sHulder

AR Aseurmi — 2, &, §, &, Y — sui @Al Ay D ?

(A) Ed (B) 1% )y (D) iy

@l 3 2161, A dl 2Rd) MN2AR 8. — v uilEdHl xesiz vl

(A) % d[d (B) A2aRIuRL (C) «ulalds . (D)zugl

e’ g 97

(A) AHESIR (B) AHIA

(C) ¢ (D) Guz UA 25 L Al

How much amount is paid as assistance for three pairs of school uniforms per student per year in
the Adarsh Nivasi Schools run by Tribal Development Department ?

(A) Rs. 600 (B) Rs. 900

(C) Rs. 1500 (D) Rs. 1200

From which year and upto which year was Vanbandhu Kalyan Yojana-1 implemented ?

(A) Year 2008-09 to 2019-20 (B) Year 2007-08 to 2020-21

(C) Year 2007-08 to 2018-19 (D) Year 2006-07 to 2020-21

How much amount is given as annual fellowship / scholarship to scheduled tribe students to
study Ph.D, ?

(A) Rs. 25,000/- (B) Rs. 50,000/-

(C) Rs. 75,000/- (D) Rs. 1,00,000/-

As per the instructions of Tribal Development Department of Government of Gujarat for
maximum how many couples, does an organizing institution get assistance to organize group
marriages under “Sat Fera Samuh Lagna® scheme ?

(A) 25 (B) 20 (©) 30 (D) 15

Besides the chairman and member secretary, how many other members are there in the district
level Co-ordination and Monitoring Committee on minimum support price procurement of minor
forest produce ?

(A)3 B)4 ()2 (D5

[BGR] rro. EJ



P

106.

107.

108.

109.

110.

111.

112,

gt R ool Renzuvuni 2eu s RendliA a1 w2 alls sz2a 3Ry
i 204 8 ?
(A) 3. 10,000/- (B) 3L 5,000/ (C) 3L 15,000/- (D) 3L. 12,000/-

AR 12l Qe Aalhs 2utleasdn Sna dan ayui ay QendlAl dals Qs a3
A 12 e 1040 Brean saul oS udlauni nan 53 2uatiz 2gyd eald-u Qe sedl 2suq
S AT 21 9 ?

(A) 3L 15,000/- (B) 3. 11,000/- (C) 3L 10,000/ (D) 3L 9,000/-

arely seuel A2 den Fean wlRald gdoll w2 RAoourasl selsil uz s 2wl
SaUL A4 S ?

(A) A dm (B) A8 A (C) uia & (D) £ v

2ul2enld a2 AA-uidl 56 dior / dloguil 3 w251220 g1t 2R & ?

1. 8l 3w 2. Rizuza 3. Sslad
4.0 s1d 5. Wil dloeu

(A)2,3,4%15 (B)1,2,3 414
(0)1,2,4945 (D)1,3,4%1 5

2ulRAld 3 24y ol uRe walFase Wor-u- Azelui QA1 Qa4 sy [Quin / Q=
Y AA D ? ,

1. A%E1R AY [ w-reald-l qs GHear sldl AS.

2. ofLdl2Aq. el ldl ASA. -

3. RYEIR g4 Gues 51l HavllHl acuug idl A,

4.2 Al e 3, s 3, erua 3, wer 3 1 Do yu s YA 39 duy

el agiRt 30 HoR wda diogri 3ot d Rz 56222 [RadiR- 3l queudd Aisaui
2144 8,

(A) 1313 (B)1,2,3 31 4

(C)1,2 43 (D) 1,321 4

sulecala-u Azlrouz @ulzad “2alooudl dsn calfiod Baw” Qo sidsid PUMAUHT A1 E HiA ud
szl yuusnil & 7

(A) 60 H1ls srerui (B) 30 Boulas g

(C) 15 3ulas erul (D) 20 Coulas sumi

§-892s 14 Yadlui-z Migse deu viqylad wealiq cws Gear 32dl 253l alin 2uuardl
ANUS 15 7

(A) 3L 30,000/-
(C) 3L 20,000/-

(BB) 31 35,000/-
(D) 3t 34,400/-

[BGR] [Contd.



106.

107.

108.

109.

110.

112,

How much amount is given annually as cquipment assistance to scheduled tribe students studying
in medical faculty ?

(A) Rs. 10,000/- (B) Rs. 5,000/-
(C) Rs. 15,000/- (D) Rs. 12,000/-

To develop academic competitiveness among scheduled tribe students and maximum students can
achicve academic development, what amount of prize is given to the students of scheduled tribe
who stands first in the board examination in class 10 at the district level ?

(A) Rs. 15,000/- (B) Rs. 11,000/-

(C) Rs. 10,000/~ (D) Rs. 9,000/-

Under Vanbandhu Kalyan Yejana-2, for how many tribal families employment oriented
programmes are planned to start ?

(A) Two lakh (B) Three lakh

(C) Five lakh (D) Ten lakh

.

Which of the following scheme / schemes for tribals is / are assisted by the Central government 27

1. Nahari center 2. Shiksha Rule 3. Ecovan

4. Poultry farm 5. Scheme for fishing

(A)2,3,4and 5 (B)1,2,3 and 4
(C)1,2,4and 5 (D)1,3,4and 5

Which of the following statement/ statements is/ are correct with reference to womanempowerment
scheme ?

1. The applicant should be an eligible candidate belonging to scheduled tribe.
2. Should be B.P.L. beneficiary.
3. The applicant should be a member of a Milk Producer Co-operative Society.

4. Under the sanctioned scheme the beneficiaries of villages in the cluster area of Panchmahal
Dairy, Baroda Dairy, Banas Dairy, Sabar Dairy and SUMUL Dairy under PTG group as well as
Vansda Vasundhara Dairy have been linked.

(A)1and3 (B)1,2,3and 4
(C)1,2and 3 (D) 1,3 and 4

What is the repayment period of a loan given to an unemployed tribal person under “Personal
credit under self-employment” (Swarojgari hetal Vyaktigat Dhiran) scheme ?

(A) 60 monthly installments (B) 30 quarterly installments
(C) 15 quarterly installments (D) 20 quarterly installments

What amount of loan is provided to the eligible candidate of scheduled tribe under Integrated
Dairy Development Project ?

(A) Rs. 30,000/- (13) Rs. 35,000/-

(€ ) Rs, 20,000/- (D) Rs, 34,400/~

[BGR) [PT.O. m




106. How much amount is given annually as equipment assistance to scheduled tribe students studying

in medical faculty ?
(A) Rs. 10,000/-
(C) Rs. 15,000/-

(B) Rs. 5,000/-
(D) Rs. 12,000/-

To develop academic competitiveness among scheduled tribe students and maximum students can

107.
achieve academic development, what amount of prize is given to the students of scheduled tribe

who stands first in the board examination in class 10 at the district level ?
(B) Rs. 11,000/-

(A) Rs. 15,000/-
(D) Rs. 9,000/-

(C) Rs. 10,000/

108. Under Vanbandhu Kalyan Yojana-2, for how many tribal families employment oriented

programmes are planned fo start ?
(A) Two lakh
(C) Five lakh

Which of the following scheme / schemes for tribals is / are assisted by the Central government ?

(B) Three lakh
(D) Ten lakh

109.
2. Shiksha Rule 3. Ecovan

5. Scheme for fishing

1. Nahari center
4. Poultry farm
(A)2,3,4and 5
(C)1,2,4and 5

(B)1,2,3and 4
(D)1,3,4and 5

110. Which ofthe following statement/statementsis/are correct with reference to woman empowerment

scheme ?
1. The applicant should be an eligible candidate belonging to scheduled tribe.

2. Should be B.P.L. beneficiary.
3. The applicant should be 2 member of a Milk Producer Co-operative Society.

4. Under the sanctioned scheme the beneficiaries of villages in the cluster area of Panchmahal
Dairy, Baroda Dairy, Banas Dairy, Sabar Dairy and SUMUL Dairy under PTG group as well as

Vansda Vasundhara Dairy have been linked.

(A)1and 3
(C)1,2and 3

(B)1,2,3and 4
(D) 1,3 and 4

What is the repayment period of a loan given to an unemployed tribal person under “Personal

credit under self-employment” (Swarojgari hetal Vyaktigat Dhiran) scheme ?
(B) 30 quarterly installments

(D) 20 quarterly installments

111.

(A) 60 monthly installments
(C) 15 quarterly installments

What amount of loan is provided to the eligible candidate of scheduled tribe under Integrated

Dairy Development Project ?
' Rs. 30,000/
145, 20,000/-

(BB) Rs, 35,000/
(D) Rs., 34,400/~

rro. EQ

[BGR]



113, 2522 Qlu 2ldl (NSTFDC 3 241240 g1 #eil@d) Aol Qe Anddl e %Ad AUHL Ay
(Qzdizai audi 2uBol Wid 53 2 32l 254+l Awlls 2uas Halel 458 sami 20da 8 ?

(A) 3L 2,00,000/- (B) 31. 1,50,000/-
(C) 3L 1,20,000/- (D) 31 1,80,000/-

114, 31d AL atedl vuEala-n dis GHeaia [A2 i G2 weai 12l dit-u isiaui 13- Ry
WA £y [Quirt / @l vl /vl © A- [@seu uaie 53,

1. 240 il 3 e qtdl Haisimi diq 2uvad s ©.

2. 2L L% AL S50 s HUlEL AT Aar] 2uad] ).

3. 20 @l [QenellHl 201 Yol a e 3is 4y ugl dll 254 56 60 Stmi ®aws s2a1 28 8,
(A) WA 1 (B) 1 24 3 (C) 12412 (D) HixA 3

115, A%31d % et Brecziing i Rz sueald aRami o Gl AR ugfad i 4d)

a2t ] woLeR Ui Al Hea GRa A 213 s 20dd el 3 diog-uui Sl ulBeuil 25
o2 o4l e Besefl 2uruq s 20d 6 7

A1 (B) 21 ()25 (D) 7
116, o%2ud 2uleoald (s SlEa su aue siuaui »uad 6 ?
(A) ad 1974 (B) a4 1970 (Cyad 1971 (D) ad 1972
17, 34%Ad A%UHT F2a1 20 uesid ABH Al 2zl D 7
. (A) Ad (B) Wi () 8L (D) &9
118. euui vulRoald [z Yat diosit (TASP) Al [ttt WEe saL 24u 2 gl 7
(A) ad 1974 (B)ad 1972 (C)ad 1970 (D) 24 1971

119, Aud w51 2leald Qs @ewa gz 2ilewald v su addl sukalig (aenlzq w2
Alse 2 S el udu uRei FHE NEET, GUICET A JEE 91 Sl CIER
@il U3 saMi 2044 B ?

(A) 94 2014-15 (B) ad 2015-16 (C) ad 2013-14

[ yed

(D) ¥ 2012-13

- DA Rl Raeeui @8 53 R/ Rl @ /20 © Al dlou Risey wsie 531,

- Al ealan seausrh il v gl 254 32812 6121 i wRami sudl adl R

L1 WA well anial WE AR wad s2a W2 eiRd AR51R gL HRAAL AU 2249
) LE0 BUAELA A DU 8,

A 7eald-t YA Gellal auslusdt | 2218244 B2 Mgt wuuay sl GIRd ARSI
GOl Ay grn ad 2021-22 4] ‘A=z 30l2d §8 51n dsyes o'l dog-n a3

(B) 12442
(D) 1 2aua 2 il 25 yo 4d)

[BGR] [Contd.



113.

114.

115.

116.

117.

118.

119.

120.

What is the annual income limit for a tribal farmer family living in rural areas in the State of
Gujarat to get the benefit of the Tractor with Trolley (NSTFDC, aided by the Central Government)
scheme ?

(A) Rs. 2,00,000/- (B) Rs. 1,50,000/-
(C) Rs. 1,20,000/- (D) Rs. 1,80,000/-

Which of the following statement(s) is / are false regarding the loan for higher studies abroad to
the eligible candidates of tribals residing in Gujarat State ? Select proper option.

1. Under this scheme, there is a provision of sanctioning loan upto Rs. 10 lakh.
2. Under this scheme, income limit is not taken into consideration.

the completion of the study of the student.

3. Under this scheme, the loan amount has to be repaid in total 60 installments after one year after
(A) Only 1

(B)l1and3 (C)land 2 (D) Only 3

Nahari Kendra Yojana was started with the main objective that the tribal women of rural areas
in different districts of Gujarat become self sufficient by undertaking various activities of home
industry and selling its products. How many women form a group to establish a Nahari Kendra ?
Ay 11

(B)21 (C) 25 (D) 7
From which year Gujarat Tribal Development Corporation came into force ?
(A) Year 1974 (B) Year 1970

(C) Year 1971 (D) Year 1972

How many most backward primitive caste communities are there in the State of Gujarat ?
(A) Seven

(B) Five (C) Three (D) Six

In which year the concept of Tribal Area Sub-plan was introduced in the country ?
(A) Year 1974

(B) Year 1972
(©) Year 1970 (D) Year 1971
From which year the Tribal Development Department of Government of Gujarat started free

coaching classes for tribal students in tribal areas for entrance examinations like NEET, GUJCET
and JEE for medical and engineering branches ?

(A) Year 2014-15 (B) Year 2015-16
(C) Year 2013-14 (D) Year 2012-13

Considering the following statements select the option with correct statements.

1. Grants are sanctioned by the Government of India under Article 275(1) of the Constitution of
India to assist in meeting the cost of development schemes implemented by the State government
for the purpose of promoting welfare of the Scheduled Tribes.

2. To promote entrepreneurship / startup projects for the youth of Scheduled Tribes the ministry

of Tribal affairs Government of India has launched a scheme of ‘Venture Capital Fund for
Scheduled Tribes’ from the year 2021-22.

(A) Only 1 (B) 1 and 2
(C) Only 2 (D) Neither one of them

[BGR]
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121,

122.

123.

124,

s 1A G2ad2 Walis anilui Axer Aol weul sdl gy F-oald-u [Qeneflai w3
518 sl I sut Al sl 2uda ?
(A) 1956-57 (B) 1961-62 (C) 1960-61 (D) 1955-56

2J9rRld A1 g1 A3 sl 2ude Asacn 2ueel Rarll aouiHi 2l Qe su dled
suL iR Y wsd Biae viuami 2ud 6 7

(A) HlRaL 6 ¢l 12 (B) 4l 6 4l 10 ©) a1l 10 (D) Hl2et 19l 12

AHRA SR A W2 AU AR GIRL “YRAd AHA Bteied Aluudl” L 2au-u s i
s 20de 8 ?

(A) ¥ 2015 (B) @ 2014 (c) 2016 (D) ax{ 2017

gl vt 5404 ddelld 2Rl gl (PVTG - 219U8 PTG gd) 7 vilovvial 12+ #iuesl ld-u
R ETEN

1. 25-lleloog yd-5M a2 2. Al 3 2R

3. 2ulds usiauy 4. u2dl vuat RuR adl

(A)1,3u4 4 (B) 2,31 4 (C)1,2%4 3 (D) 1,2,3¢14

125.

126.

127.

128,

129.

130.

GURd U513 Ay 2023-240 30u o1 Ul v 5304 Aoivn 2ulZeald ol (PVTG) [Qs12 4R 215 Rl
At 53 8. 2t Frat-i nellse w ax 2023-24-u ezl sedl 81l Aorad 306 ?

(A) 3L 5000 53 (B) 3L 15000 %313

(C) 3L 10000 5313 (D) 3L 12000 5313
ota-iteits olEHAL e g adflga nu ©,

(A) #HRU ¢d sl Ryad . (B) t1ddR 2idR 5 2ieid)
(C) 62 21yd QR sl aHal (D) 2yl My

COTER | TR LRI D ol wu 8,

(A) #idlsa (B) Rl Gl (©) Q518121 (D) 3sudl yigall
.......... Al carvaldd cratlRisd 20 6 3 d S1S argd Heuis asd 53 9.

(A) Hirdd1%il (B) a4l (C) uruR [t (D) HREw

o1t gl 2quend flud © 3 2uudl #30udaHeEA Hee sl RS, 2L aAdH ..., 53U D,
(A) 431% dz6) ad+ (I3) A5 <Acdn

(C) wiAlis ad (1) Hitet e+t

iy suui’A 3 sdau O 7

(A) dlsud (1) dlspuysd
(g)v_(,x ) 244 (B) o= (D) Gulset WA 25wy )

i [BGR] ' [Contd.



121.

122.

123.

124.

125.

126.

In which year government hostels for Scheduled Tribe students studying in secondary and higher

secondary school and colleges were started 7
(A) 1956-57 (B) 1961-62 (C) 1960-61 (D) 1955-56

From which standard and upto which standard is free education provided to Tribal Student in

- Eklavya Adarsh of Nivasi Schools started by government of Gujarat ?

(A) Std. 6 to 12 (B) Std. 6 to 10 (C) Std. 1 to 10 (D) Std. 1 to 12

In which year ‘Gujarat Samaras Hostel Society’ was established by government of Gujarat to run
Samaras Hostel ?

(A) Year 2015 (B) Year 2014 (C) Year 2016 (D) Year 2017

Which of the following are the criteria for identifying Particularly Vulnerable Tribal Groups
(PVTG formerly PTG) in the country ? |

1. Pre-agricultural level of technology 2. Low level of literacy
3. Economic backwardness 4. Declining or stagnant population
(A)1,3and 4 (B)2,3and 4 (C)1,2and 3 (D)1,2,3and 4

The government of India has announced a mission in Development of Particularly Vulnerable
Tribal Groups (PYTG) in the Union Budget for the year 2023-24. How much amount has been
provided in the budget for the year 2023-24 for the implementation of this mission ?

(A) Rs. 5,000 Crore (B) Rs. 15,000 Crore
(C) Rs. 10,000 Crore _ (D) Rs. 12,000 Crore

Emotional Intelligence is characterized by :
(A) Proficient in problem solving.
(C) High abstract thinking ability.

(B) Better interpersonal relationship.
(D) Good sense of humor

(B) idea origination

(D) channel selection

is that they express an evaluation of some object.

(C) interaction (D) perception

(B) social behavior

(D) human behavior

(B) Lok Ayukta
(D) None of the above

(BGR] rro. |EQ




131.

132.

133.

AU AUAILAIR UUH 511 der B2 sl el ?

(A) H1d ' (B) Ras (C) yfa-s (D) g5 23 Slasy
Al s FAHERIHL VU ASAAA © 5138 F....

(A) 2uaells Auan (B) tdl 11205 Ad-l

(©) stidl @Qau ' (D) Bualsd dun

dlsil ee el s1u s2al uReigdl 203 ugfaug dud 230fddi .o........ sdain 9.

(A) 23[R (B) sl Aldsdl

(C) cuqu anl- (D) GuRsd dHIH

DR s, e ARs AHRAAL A D ?

1. 2l ARl s aa

2. i Al (34 s Ry

3. H-ldauAs 512 wiA vlae _

4. 15401 A AidNs Radl day | | A

5. 5roid el i A fu asdi-l ey %

A 2104 [Aseulnidl 2l [Qseu vaie 531,

(A) W+ 1,2,3 (B) W+ 3, 4,5 © ™AL, is (D) HIA 2, 4, 5

RO T TR IR

(A) 5IU(E2 5151251 YASLS (B) S22 51512501 QR

@) 621212 IR0 YASis (D) BuRlsd W4 25 yoy ]

(B) 5tugl
(D) GuRsa U4l A5 yo 4]

UHAIGI A -101] wisd (B) Hdeu stdsA- Adinell
(D) Bl 21 A6 QA A uge s
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Which was the first Commonwealth country to adopt the Ombudsman system?
(B) Sweden
(D) United Kingdom

131.
(A) India
(C) New Zealand
132. The concept of social responsibility of business is rational because of
(B) New social consciousness

(A) Professional management
(D) All of the above

(C) Legal statutes
Extent to which people are committed to work and involved in their activities is called
(B) work ethics

(D) All of the above

133.
(A) unethical
(C) job description

134. Which of the following are the sources of ethical problems in organization ?

1. Failure of personal character

2. Organization goals vs social goals

3. Psychological egoism and rationalism

4. Virtue and common good conflict

5. Conflict of personal values and organizational goals.

Choose the correct answer from the options give;l' below.
(A)1,2,3 only (B) 3,4,5 only
(C)1,2,5o0nly (D) 2, 4,5 only

135. What is the full form of CPI'?
(A) Corporate Profitability Index
(C) Corruption Perception Index

(B) Corporate Profitability Idea

(D) None of the above

136. The rules of ethics are also called as a
(B) Law

(A) Rules
(D) None of the above

(C) Responsibility

137. The ethical skills are :
(A) Care of possessions, modesty, self reliance

(B) Good behavior, good manners, good relationship
concentration, self esteem, self confidence

(C) Attention, calmness,
efficiency, perseverance, punctuality

(D) Code of conduct, responsibility,

138. What is Nepotism ?
(A) Undermining the morale of workers

(B) Harassment of women workers

(C) Autocratic decision making
(D) Helping for undue favours to friends and relatives.

[PT.. E
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139.

140.

141.

142.

143.

144,

ﬂ [BGR]

gadrtl e ...

(A) G2 -] oj& ldl A tidiadl

(B) AL M 2] Ye3ell waal Rdet dlay vdi 5165 529
(C) A6 s 2 Aaq Wuedl 4 eafaad [

(D) el A U uad unel 2uug 1l

AR Guas Rl Ad aud suxid s s ARs YA deiadl (ualdl) o ?
(A) 32 odllerdl d padil 39uidd 3 A4 zigdla s ASA?

(B) Rell-tl 2and-l RuRui 58 wBa 21u-uadl AS ?

(C) NRRNas Fof as uadl e 213 sreid 3d A4 wRBE 3 8 ?
(D) NRRNAS Refy AR ad4a wolgel 2und Wiel 214 Jell § o ?

ARs 2uazerll dwa w RuiRd o usdd gl Dd-usiel sa ws aalde 44 ?
(A) AR ad g 59 2@ 8L ? '

(B) g ¥ dmiRt tunsA 2 o dlviaa Wil 1 ?

(C) Sl21 Ad e ? &

(D) axdl uldlzun g edl ?

cuaritens oyfg 2 2i-u oifgell &5 Ad 2140 ?
(A) 4 Fadi-l 4ye 8,

(B) A u0ail ylRaieil Gudlar s394 il ausiu B,
(C) A &in tUAALHS dS, BHAL 2 suA UR B,
(D) A Al sl ¢yfz B

3flud dam AR Gl s syl i e zs) sud ?
(A) aqga,;l?t, ESIEUEIEN igvau, At M(d, Al
(B) 23y, 228, us0dl, a-Fd=e, AR sl
A Ly — - W
(C) 2a-[Aa, Aldsal, 9u, 2aqy, Ao
(D) GuRhsn WA 215 you 44

Guarians ol AA-As Aeiun
el u 8,

(A) A5 G2 21eH-U-HIA 2ug
(B) 2a- el (eller) Al aviellail W DA wned)

(€) wat il (ellez) 0l sl A qud ug
(D) doiunidl % AS 2 d Anaqg

Al 0l A ) 518 3 euarias & . A Add
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Perseverance means

(A) Having or showing intelligence of high level

(B) Doing something despite difliculty or delay in achieving suceess
{C) The state of showing no real interest or efforts

(D) Not supporting any of the sides involved in argument

Which of these questions docs not address ethical issues while making policy decisions ?
(A) How should the need for scerecy be balanced with public participation 7

(B) What procedures should be adopted in the events of conflict of interest ?

(C) How should the policy decision reflect name and benefits to the ruling government?
(D) What are the norms and values that guide the behavior of the policy decision makers ?

Which of the following questions is not included in the ‘list of six questions’ prescribed for the

investigation of moral conduct ?

(A) What were you doing then ?

(B) Would you like to teach your child the same ?
(C) Who were involved ?

(D) What was your reaction ?

Emotional intelligence is different from other intelligence in which way ?
(A) it is a set of skills.

(B) it can be measured using tests easily.

(C) the focus is on emotional reasoning, ability and knowledge.

(D) it is a new type of intelligence.

What are the five core components according to Daniel Goleman, for E.L7
(A) Self awareness, self regulation, motivation, empathy, successfulness
(B) Self awareness, motivation, successfulness, self control, morality.

(C) Self regulation, morality, love, perseverance, motivation

(D) None of the above
E.L is linked to romantic relationship satisfaction beeause E.I may be linked to

(A) Giving person higher sell esteem.
(B) Having better understanding of the partner's emotion.
(C) Agreeing with partner all the time

(D) Getting what one wants out of the relationship.

[BGR] [PT.0.



145, dam e ?
(A) w1 @l (B) ad+, Rzl 217 arigllii- s
(©) s w5l 2idRS WrARis 22 (uradt) (D) W' el s 22l oflod e

146.  QUd-UHS GfgHdi-l Ao ............ s3 uswu,
(A) &l 3l 2Ry (B) AA8lgd HRde 2ty
(€) Mlat e w1y - (D) GuRlSd duiH
147 ... GR1 sreiR (A1) waraia dwg dlou 2 2ufl asa,
(A) You Qi : (B) 585 SWUEIl
(C) ayA ay Ruusdl v gt (D) GURA5d dHIH

148. gL atfui oura-ll Aue g1t sz Rare A 2241 s2c0mi 2ud)l ) ?
(A) 1988 (B) 1999 (C) 1996 (D) 2011

'; 149. Aaet 3t Doyraddl 2 s s2ai 2ud) edl ?

(A) 2009 (B) 2010 (©) 2013 (D) 2015
150, ouRdlu titRer su1 w42 eni 2idau ¥ Reae-u Refudl Asiaus © 7
(A) 2uls4 262 (B) 2054 270 (C) 2udl54 263 (D) 21854 268
151, {l ade 2ils Riegrt g 4l 2ns ssucudl Azydad As2, 2009 2t-ad A VD) 58 uns’ Q) ST
wAdl Y ?
(A) 641 14 il qu 20l 3 yay opag (B) 8 el 18 Al auy -0l 3 yau oy
(C) 54 16 Qi+l qud 20 3 yau suas (D) 741 15 4l aug 20 3 yu ous
152, a2 2ils Reg g A 2i-s srucudl Aosyuq sz, 20090 Al AFAR A 418 o5 6 @) @i

A6 auoumi uda ad walis B 1 ad wda dudiad o

(A) % @e(dl als @aw dag oudl €lu d aofui uda vigami »uqg),

(B) Al G2 wadl A4l % F-a @diHi uda 2] >uadl,

(©) A W15 ulen a4 ounsl sl Yoo aofui uda suuami suadl,

(D) -l Al uflan A -220y @ ouns epuey YL AU 2 AU w1,

-Jy

153, Hl usz »ils [aeg g 4l 24w saueud) sorydant 252, 20000 say 2(n) (iii) 2 (iv) 1 AR s
At uda dlzeell sa fendl v 04 2ilomi v covvennne 1S QAR ooy 4o 249 R4
HHELLAL AU 200U U2 AL 238 21 AMA Y3 - aiy L Ryes 2 s20u1qud walis
[ere wunand 234,

(A) 10% (B) 15% (C) 25% (D) 33%
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149,

150.

151.

152.

153.

(B) A pattern of behavior, thought and emotion
(C) A sort of internal mental construct (D) Another word to describe ‘the mind’

What is a trait ?
(A) A bad feeling

Emotional intelligence can be studied through

(A) the abilities-focused approach (B) the integritive model approach
(€) the mixed model approach (D) All of the above

Anti-corruption measures are given their rightful place through
(A) value education

(B) strict law

(C) prevalence of more and more regulatory agencies
(D) All of the above

The Prevention of Corruption Act was enacted by Parliament of India in the year
(A) 1988 (B) 1999 (C) 1996 (D) 2011

When was the National Green Tribunal set up ?
(A) 2009 (B) 2010 (C) 2013 (D) 2015

Which Article of Indian Constitution provides for the adjudication of inter-State water disputes?
(A) Article 262 (B) Article 270 (C)Article 263 (D) Article 268

Which of the following definition of ‘Child” is correct under the Right of Children to Free and
Compulsory Education Act, 2009 ?

(A) Male or Female child of the age of 6 to 14 years.

'(B) Male or female child of the age of 8 to 18 years.

(C) Male or female child of the age of 5 to 16 years.
(D) Male or female child of the age of 7 to 15 years.

As per the provisions of the Right of Children to Free and Compulsory Education Act, 2009 where

a child above the age of 6 years of age could not complete his/her elementary education after

admission, he/she

(A) Shall be admitted in the class from which his / her elementary education is due.

(B) Shall be admitted in a class appropriate to his / her age.

(C) Shall be admitted in a class as per the capacity of child after taking his / her oral test.

(D) Shall be admitted in a class as per the capacity of child after taking his / her written examination
as well as oral test.

As per the provisions of the Right of Children to Free and Compulsory Education Act, 2009, a
school specified in Section 2(n)(iii) and (iv), shall admit in ¢lass 1, to the extent of at least

of the strength of that class, children belonging to weaker section and disadvantaged group in the
neighbourhood and provide frec and compulsory cducation till its completion,

(A) 10 % (B) 15 % (C)25 % (D) 33 %

(BGR] [PT.O. —m
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A2 21l Reg g A 28 srueudl Aoydad 2152, 200940 AdgSH 24202 % S e 3 U3,
2L SIEL 60 HAY Al SEEIR bl b5 HAU AUl avid 21 seL-dl of 53 3R2aA 9 :dsi29) 4
BRI WA T —— ugl,

(A) 4 330 8l s el 253 Al es (1) dlAa 02 A i aell 264 AL £s
(C) dlfa 3R2a Sl e ol s YA Es (D) dldes B3 au1 Aell opuel 25% Yl £

- Wude 2ls Reg g 4§l A sruead lopydan 22, 200940 Aol 2202 A 4S5 e / el

ML SUEL A 6N U AL 8SEIR blrtdl bu5 WA )l avid 241051 wesalasio a2 sl 229 ud dl
2udl o / eaBaA A g1 ol quid- Geeiad oied - W4 32l £ udl ?

(A) 3R 25,000/ YL (B) 3(1 10,000/~ 314l
(€) 3R 1,00,000 YL (D) 3R 50,000 YA

- g2 2ils Reg g A - ssucadl Awydant Ase, 200941 564 2(n)(iv) 2600 2o Brara-D) s
RAUHE 204 ‘o Aer AR’ (School Management Committee) i 2S1HL S ..., Aol
S HAL-NdL aaL adll 289 203 2l 2ot oo, Al Al 284,
(A) & g=lluin (2/3), 60% (B) A AdlG (3/4), 50%
(C) ¥s W23uB (1/5), 25% (D) 25 gAuG (1/3), 33%

A 516 Rias 31 12{ 2015 -1 3k, D a2 2115 Ruegri g 4l 28 srucudl Aoydadt 2452, 200941 sam 23(1)
2AARAL Yrini cresid qR1adl - Slu dl )l asz sils Rieg g 4 A= sreud) Ayt (AA-sA-2)
252, 2017 g2 A8l 20dl Yriniy Qs ..., i Hadl dai- 2891,

(A) A ay (B) 2L (©) A ay (D) uiz 2

9 e 2lis Rt g A A= srucdl Aoyl As2, 2000 260 3¢ W51 AWM @121 Ao
visudndl s6Fua’ 2aq 528 Rui walis Bag 1A cuRsiua Aml sud 3 g gta Sl
dat £ "2z dloy sl dediyig ..., Al ay AR dectt Bl w6l a3 w3uda 291,

(A) 15 (B) 10 (©) 20 (D)5

- dlude vils e 2 A v suedl Apydud Ase, 2009 ) RauSi oL A S8 aonni yday

4l i dlze i 110 Fadlid uda suvami 2udd du d 4 o Busd gl
(21851 clat At =i,

(A) Wi (B) 41z (C) 4l (D) e

A use vt (e g 4 wles sucad] sloybuq 36, 201240 Roassi APAR A SIS ouols W
wialas ol way doadl qua EM, Yoy B qo s wEAa, 1886 da0l dr e
AHIEHA Al b auou uda- Eqell - W8l sdi sadidey suotsHll Guau Yt dils ae el asia
"dl ¥

(A) AL L4 4l L | dlallzey 3o0veeel 3514
(B) wizieiall 2514

(C) SULE-AL % -H1EZ

(D) el Gz 2050 dr sl s -l disieqad] wda
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2n)‘ scl;uul ar‘pcrsan.if in contravention of the provisions of the Right of Children to Free and
ompulsory Education Act, 2009 receives capitation fees such school / person shall be punished

with

(A) Fine which may extend (o ten times the eapitation fee charged.
(B) Fine which may extend to five times the capitation fee charged.
(©) Fine which may extend to three times the capitation fee charged
(D) Fine which may extend to twice the capitation fee charged

\\"hifh_ of the following punishment is awarded to any school or person, if in contravention of the
provisions f)fthc Right of Children to Free and Compulsory Education Act, 2009 such school or
person subjeets a child to screening procedure for the second such contravention ?

(A) Up to Rs. 25,000/~ (B) Up to Rs. 10,000/

(C) Up to Rs. 1,00,000/- (D) Up to Rs. 50,000/-

‘School Management Committee’ constituted in a school other than a school specified in Section
2(n)(iv) of the Right of Children to Free and Compulsory Education Act, 2009 shall consist of at

least of members of such committee shall be parents/ guardians and of members
of such committee shall be women.

(A) Two thirds (2/3), 60% (B) Three Fourth (3/4), 50%

(C) One Fifth (1/5), 25% (D) One Third (1/3), 33%

Any teacher not possessing minimum qualification as per Section 23(1) of the Right of Children
to Free and Compulsory Education Act, 2009 as on 31st March, 2015, he/she has to acquire

such minimum qualification within a period of as per Right of Children to Free and
Compulsory Education (amendment) Act, 2017.
(A) Two years (B) Three years (C) Four years (D) Five years

Under the provisions of the Right of Children to Free and Compulsory Education Act, 2009, the
Central Government shall, by notification constitute ‘National Advisory Council’ consisting of
such number of Members, not exceeding as the Central Government deem necessary,
to be appointed from amongst persons having knowledge and practical experience in the field of
elementary education and child development.

(A) 15 (B) 10 (€)20 (D)5

Ifin any school from first class to fifth class total 110 students are admitted, then such school must
- teachers in above classes as per the provisions of the Right of Children to Free and

have
Compulsory Education Act, 2009.
(A) Five (B) Four (C) Three (D) Ten

of the Right of Children to Free and Compulsory Education Rules, 2012,
while taking admission at Elementary School, if birth certificate of child under the Births, Deaths
and Marriages Certification Act, 1886 is not available, which of the following documents shall not
proof of age of the child for the purpose of admission in schools 2

As per the provisions

be accepted as the
(A) Register record of Hospital where the child is born
(B) Anganwadi record
(C) Horoscope of child

(D) Declaration through an affidavit of the age of child by the parent or guardian.

[BGR] [PT.O.
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162.

163.

164.

v

165.

166.

4l uS2 2ils Regrt g 4 A sl vagbud IR, 2012 AR WA adlaz Ul g o Ry

wWir (School Development Plan) v AHuoIo W2 AUIR s Al
(A) Wi ay-L (B) A8l axl-L
(C) A v (D) A5 ad-ul

1 g wandl Amydad sz, 1947 60 e ol ucudl el sUBAAL U 2ellui
@dl slel GRAEALR €131 3 MAEM Sl W2 cs 2u A6 aldd g1t st Gedl s2ami wudd dlu dl

2l el 2 Yeulld uRoun nd2 wddl ......... PITE AT R 2l waql Rus28 W2 212
s us.

(A) 15 Raxi, @ wecani 2ol ada dla / adl ASd ¢d), 4 [Fearu dadlsz oo 2ua

(B) 30 Baxui, 2 @eami dzoll add dlu / adl AS ¢dl, d Brearit Ao~ %% A4a

(C) 60 Razai, B e el ada dlu /adl AS ed), d Dea-u sds22 aua

(D) 90 Rauui, 3 @eani Azoll 1da glu / adl ASd gdl, d caru vuu gzl 21859l uu1a

4l apertd wandl Aoydad As2, 1947 3501 2522+l avidlavid 2l A yaqi Faw 24 el
22150l vlad), el Ax % sAu 20 vl oMl 24l 2215 A1H dHIH WL Bz 216{H waial
(s g2 s Udld) Qarl AL A 9 ?

(A) Aydu -ise (B) e vy san 2iFu2
(C) walas Asyiud [Geyqa (D) adladl »[a5d

o] 3yor21d WAHA Aosydaq 2152, 1947 -l SIS vl walis ol Wil 4 12 sad 40.A(4)
S50 S2UHl 21ad 2122 Hed s1u3sez 3 2Asd 2ASEAA 21 2122 U2 dwin 53], 2 wad] 2a1
HHUIUOUHE HImAAL UYL 3 A 2l {00 (Relu dail 2891 7
(A) 15 Bauui (B) 1 Hiui
(C) 3 Wuui - (D) 6 ™l

gl 2goratd wuHdl Hsysa 2152, 1947 do0 ot s1S W vl wals ot adlaz sal 213 A awt
(rets a2 ALl azdl weilad 516 dsA2 Gla dl adlazsdl 3 2udl @ias (6R T8 A4S wa) 21 ase2
wofd] [Roly Wz .......... HU# 2122 53] wsdl.

(A) [zoy44 (B) @ean [QiEw 2R3

(C) 21%H A2 512 () adladl x1(andl

4l grrad wamdl sipgbunt 2152, 1947 siead 2ade oilf wils uundl Asydaii g4 ......... uedl
g U .......... el deell won eld gz [ud sal yogor wal.

(A) 24, 12 (B) 10,8 (C) 15,9 (D) 20, 10
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161. The School Development Plan prepared by the School Management Committee under the

162.

163.

164.

165.

166.

provisions of the Right to Free and Compulsory Education Rules, 2012 shall be of
duration.

(A) Five years (B) Three ycars
(C) Two years (D) One year

If the validity of the clection of a member of a school board is brought in question by an unsuccessful
candidate or by any person qualified to vote at the election, such person may, at any time

from the date of the declaration of result of the election apply to for the determination of
such question.

(A) 15 days, the District Judge of the district within which the election has been or should have
been held

(B) 30 days, the Sessions Judge of the District within which the election has been or should have
been held

(C) 60 days, the Collector of the District within which the election has been or should have been
held

(D) 90 days, the Special Election Officer of the District within which. the election has been or
should have been held

Who shall have power under the Primary Education Act, 1947, subject to such general instructions,
as may be issued from time to time by the Director, to promote, transfer and take all disciplinary
action (including removal or dismissal) against the staff maintained under Section 20 of the Act ?

(A) Education Inspector (B) District Education Officer

(C) Primary Education Tribunal (D) Administrative Officer

Within how much time on receipt of the application made for obtaining recognition of any Private
Primary School, the Director or any authorised person shall under Section 40A(4) of the Primary
Education Act, 1947 decide about granting or refusal of recognition after making inquiry ?

(A) 15 days (B) 1 Month

(C) 3 Months (D) 6 Months

Under the provisions of the Gujarat Primary Education Act, 1947, where there is any dispute
between the manager of a recognized private primary school and teacher in service of such school
which is connected with the conditions of service of such teacher, the manager or as the case may
be, the teacher may make an application to the

(A) Tribunal (B) District Education Officer

(C) State Government (D) Administrative Officer

Under the Gujarat Primary Education Act, 1947, there shall be Board of Primary Education
consisting of members, of whom shall be clected by the school board in the

manner prescribed.
(A) 24,12 (B) 16,8 © 15,9 (D) 20, 10
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169.

170.

171.

172.

sn9A e el A A 28 2l wBRaY, 2012 360 F S8 il 86 tvuuu.; = siafls
dys adl g‘-l&ﬁ (Aggravated Penetrative Sexual Assault) 53 A DA U4 Sl uon a9l ?

(A) e el 219 AR A Al arf YA AS wer sl 3¢ 2w €l wm

(B) £t el e AR Ad) Ale Al YA Avid Be w4 €3+l an

(©) £t el 20 AR Ad) 22wt 3¢ YA Avia Seedl w21 €3+l an

(D) Nt Al 2] AR Al 2u2a 3e YA 2vid Fe-l 24 €301 2o vual egid €5 won

eunS1A ol Yl A 288 2l ARRAN, 2012 Yror B SIS ulEd sunsl aadla Aamell 53 44
AU AD 22l o 2dl ?

(A) 32 YA 2R d sl de-l 2o 21 €3
(B) 3 2 YU v 32+l % vUa €5 219q) 6id
(©) 5 YL 2R A usi-A 3e-N uom 24 €8
(D) 5t YL v Jefl 2on e €3 wq) oid

sl aldy vl AR 2@a wuud wRERUY, 2012 Yo A A8 ald gl S5 eunsHl

Guadlot ettt 8 W2 sl 20 dll 1)l B AL M dvid-L o s Ed 1A U4 =yan Sad)
Al ?

(A) “Yrtetd 3 ] AL 3Dl uo am €
(B) "yriniyt 5 o Yl 3ell 2o 2 €8
(©) Yrtrdt 7 ad Y-l B0l 2o 24 €8
(D) Yt 10 @ YL 36 o 244 €2

A AR 22l wel e 2 uRRY, 20120 Aot il AFAR 516 cunsd Mg ddl qua
MLl EAR et A dlon sl D3 14 46 sueadl 3

HIAN Yl ) ?
(A) sl 416w Ad 20200 20 2448 A ud) RS A,
(B) g (et Al avid Wl 0Bz - Y(ASIHAL A el RS,
(©) s (et Adl avid el 20Bad Ay Hidl-RL 3 c{tél& RSN SR AVl RS
(D) 5 [(HAet d-i Rawaa 3 opui 3 AL A 286l €l e 3 A wredll-u i 4 A,

w4l (et AU, 2020 2i-ad qugy (Qensfl2A4lq i

el 2020 ad qwm Radlzid ML Yo ERAL 2 3 1
A Haills sy siyayg 21 8, o R
(A) 422 2 (B) Hiaw 3

(C) Hluy 4 (D) Q281 5

ey d « -
wilu lase A, 2020 weqq &35 wouni [Qeyd]- [ pelug (p

o dl M.”-m S ddl caazal szaui wyq4) AW B Al 3 Ry
dlad [dendloil 9, 4 4 daaufiayg (aen

St o dl-Qis aoluz (p
Al 21191 el Adl ez s3qqu 1adl, el ()
(A)30:01,25: 01
(B) 35: 01,30 .
(C)45: 01,40 : 01 1,30: 01

upil-Teacher Ratiop — NIEIERTEY
WA v wlys-2ufls A
upil-Teacher Ratio — l[léh:{li)

----------

D) 40:01,35: 1
(BGR)
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172,

Which of the following punishment shall be awarded to a person who commits Aggravated

Penctrative Sexual Assault on any child as per the provisions of the Protcction of Children from
Sexual Offences Act, 2012 ?

(A) imprisonment of cither deseription which may extend up to seven years and fine

(B) rigorous imprisonment which shall not be less than ten years, but may extend to fourteen years
and fine

(C) rigorous imprisonment which shall not be less than ten years, but may extend to imprisonment
for life and fine.

(D) rigorous imprisonment which shall not be less than twenty years, but which may extend to
imprisonment for life and fine or with death sentence

Which of the following punishment shall be given under the Protection of Children from Sexual
Offences Act, 2012 to a person who commits sexual harassment upon a child ?

(A) Imprisonment of either description which may extend to 3 years and fine
(B) Rigorous imprisonment up to 3 years or fine or both
(C) Imprisonment of either description which may extend to 5 years and fine
(D) Rigorous imprisonment up to 5 years or fine or both

Which of the following minimum punishment shall be given under as per the provisions of
the Protection of Children from Sexual Offences Act, 2012 to any person who uses a child for
pornographic purposes for his first such act ?

(A) Minimum 3 years’ imprisonment and Fine
(B) Minimum 5 years’ imprisonment and Fine
(C) Minimum 7 years’ imprisonment and Fine
(D) Minimum 10 years’ imprisonment and Fine

Which of the following is not included in the matters required to be considered by a police officer
before taking statement of any child under the provisions of the Protection of Children from
Sexual Offences Act, 2012 ?

(A) At no point of time the child should come in contact in any way with the accused.

(B) While recording statement of a child, the police officer shall not be in uniform.

(C) While recording statement of a child, police officer must keep his parents or guardian present

(D) The Statement of the child shall be recorded at the residence of the child or at a place where
he usually resides or at the place of his choice.

Under the National Education Policy, 2020, the highest priority is given to achieving Foundational

Literacy and Numeracy by all students by .
(A) Grade (standard) 2 (B) Grade (standard) 3
(C) Grade (standard) 4 (D) Grade (standard) 5

Under the National Education Policy, 2020, a pupil-teacher ratio (PTR) of under will be
ensured at the level of cach school; areas having large numbers of socio-economically disadvantaged

students will aim for a pupil-teacher ratio (PTR) under ______,
(A)30: 01,25 : 01 (B)35: 01,30 : 01
(C)45: 01,40 : 01 (D)40:01,35:01
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174.

20dlu Rl AR, 2020 idela oild ufauil-u ‘add sotsaru aig2’ g2 s W2 et Rendllil 66 vy

Ay Ay eRUA e oLl uan 20l a9l
(A) A2 avid (B) 215 % dvid
(C) AR avd (D) 6l avid

andly Rea AR, 2020 360 et wafRaa 2103 Aoazsdly woae sigae Qendl 14 14 af
LD I A adly el xey 523,

(A) HiReL 52 7 (udlds) (B) 4128t 4 Q) 8 (u3lees walns)

(C) {6 A 8 (G wals) (D) {2t 4 4l 6 (yed walis)
o dly e AR, 2020 2idold af ... YUl dm G Riaa dizenvil suglRenawendly izl
- oAy @sg Awal.

(A) 2035 (B) 2040 (C) 2030 (D) 2025

176.

177.

178.

AR Al 3 2gYAA 2L a0 A Gl ddl A alkd, 2143Rd Ald 3 2043Rd gald-Al
Al wfeuqt a3 Gualomi datdy w5l Sueyds 2001 3 28125 ugieldl eons (Raadls)-i s g2t

U 53 dl dl AR 2Ald 213 243 RA gl (enar Rare) A#EAuY, 1989 2i<ad Dl 14
sSuMmad?

(A) ~Yriad &9 i Yl 36 udg e avell ay 4 Sla ddl 3e umm 244 €3
(B) "4 9 1 Yl 3¢ udg uid el ay 4 Slu dd Zerl 2 wA €3
(C) 2u2a 36+l Ao A €3

(D) Yt d add Yl 3e udg Henm vwwan 3 Y- um 20 €

2gy[d AR 3 AR F1nRA 2weu 4 du Adl 84S nd: Aas, Ay AR 2 24yl
Zioald (e Rare) 20Rux, 1989 3 21 s1ue S0 sr-uda Rasil Yo Uldidl 29 eionqani
S2Aetyds A5 emd dl AR D W4 56 wo 29} ?

(A) Yt 6 W Y-l uig 218 @l ay - dla adl 360l 2

(B) Yt 9 i Y-l udg A2 ayell ay - dlu dd) 260l um

(C) et A2 i Y-l uig o audl ay « dlu dd) 3e-) e

(D) i3 45 adl yllef) udg v el ay 4 lu Al 260w

“ld Al sgylud gl G Rare) s, 19804 foessi 2R A
A A S At 520t (A 2l caesidl el dl 2 Hdola A [y YReUR L i Yol verad
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176.

177.

"4

178.

Under the National Education Policy, 2020, in order to eliminate ‘high stakes’ aspect of Board
exams, all students will be allowed to take Board Exams on up to during any given
school year.

(A) Three occasions (B) Only one occasion

(C) Four occasions (D) Twao occasions

As per new pedagogical and curricular restructuring structure of the National Education Policy,
2020, student during the ages of 11 to 14 years will study school education of i

(A) Class 5 to 7 (Foundation) (B) Class 4 to 8 (Pre-Foundation)

(C) Class 6 to 8 (Middle) (D) Class 4 to 6 (Preparatory)

Under the the National Education Policy, 2020, by year , all higher education institutions

(HEISs) shall aim to become multidisciplinary institutions.
(A) 2035 (B) 2040
(C) 2030 (D) 2025

As per the provisions of the Scheduled Castes and Scheduled Tribes (Prevention of Atrocities) Act,
1989, any person, not being a member of a Scheduled Caste or a Scheduled Tribe, commits mischief
by fire or any explosive substance intending to cause destruction of any building ordinarily used
as a place or worship by a member of a Scheduled Caste or Scheduled Tribe shall be given which

of the following punishment ?
(A) Imprisonment for a term not less than 6 months, which may extend to 3 years and fine.

(B) Imprisonment for a term not less than 6 months, which may extend to 7 years and fine
(C) Life Imprisonment and fine.
(D) Imprisonment for a term not less than 7 years, which may extend to Life Imprisonment

and fine.

Whoever, being a public servant but not being a member of a Scheduled Caste or a Scheduled
Tribe, wilfully neglects his duties required to be performed by him under the Scheduled Castes
and Scheduled Tribes (Prevention of Atrocities) Act, 1989 or the rules made thereunder, shall be
liable to undergo which of the following punishment ?

(A) Imprisonment for a term not less than 6 months, which may extend to 1 year.

(B) Imprisonment for a term not less than 6 months, which may extend to 3 years.

(C) Imprisonment for a term not less than 3 months, which may extend to 2 years.

(D) Imprisonment for a term not less than 1 year, which may extend to 5 years.

Under the provisions of the Scheduled Castes and Scheduled Tribes (Prevention of Atrocities) Act,
1989, if it is proved that the accused having personal knowledge of the victim or his family, the

court , that the accused was aware of the caste or tribal identity of the victim, unless the

contrary is proved.
(B) shall presume

(D) shall not presume

(A) may presume
(C) may not presume

[BGR] [PT.O. E
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180.

183.

184.

181.

Under the provisions of the Scheduled Castes and Scheduled Tribes (Prevention of Atrocities) Act,
1989, against an order of the Special Court or the Exclusive Special Court granting or
refusing bail.

(A) a Miscellaneous Application shall lie to the Sessions Court,

(B) a Reference Application can be filed before the Sessions Court.

(C) a Revision Application can be filed before the High Court.

(D) an Appeal shall lie before the High Court.

Which of the following statement is true with respect to the person found guilty of having committed
offence punishable under the Scheduled Castes and Scheduled Tribes (Prevention of Atrocities)

Act, 1989 ?

(A) The provisions of the Probation of Offenders Act, 1958 shall apply to the person found guilty.

(B) The provisions of the Probation of Offenders Act, 1958 shall nat apply to person who is above
the age of 18 years and found guilty.

(C) The Court will make final order whether to apply the provisions of the Probation of Offenders
Act, 1958 upon the person who is found guilty.

(D) The provisions of the Probation of Offenders Act, 1958 shall apply to person who is first
offender and below the age of 21 years.

When the trial relates to an offence under the Scheduled Castes and Scheduled Tribes (Prevention

of Atrocities) Act, 1989, as far as possible, be completed within a period of from the date
of filing of the charge sheet.

(A) One Month (B) Six Months

(C) Two Months (D) Three Months

Under the provisions of the Scheduled Tribes and other Traditional Forest Dwellers (Recognition
of Forest Rights) Act, 2006, the persons entitled under the category ofindividual rights as claimants
for residence and cultivation shall be given ownership rights of land not exceeding

(A) Four Hectare (B) One Hectare

(C) Three Hectare (D) Two Hectare

Within how much time the investigating officer appointed under Rule 7(1) of the Scheduled Castes
and the Scheduled Tribes (Prevention of Atrocities) Rules, 1995 shall complete the investigation
of an offence committed under the Scheduled Castes and the Scheduled Tribes (Prevention of
Atrocities) Act, 1989 ?

(A) 30 days (B) 15 days (C) 60 days (D) 45 days

In order to obtain recognition as a beneficiary of the rights given under the provisions of the
Scheduled Tribes and other Traditional Forest Dwellers (Recognition of Forest Rights) Act, 2006 a
person must belong to Scheduled Tribes or Traditional Forest Dweller and he must have occupied
the forest land before .

(A) 13 December 2004 (B) 13 December 2006

(C) 13 December 2005 (D) 13 December 2003
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Which of the following punishment may be awarded to the owner of any hotel under the provisions
of the Protection of Civil Rights Act, 1955, if he refuses anyone the entry to his hotel on the ground
of ‘untouchability® ?

(A) Imprisonment for a term not less than one year and not more than three years and also with
fine which shall be not less than Rs. 5000 and not more than Rs. 10,000.

(B) Imprisonment for a term not less than six months and not more than two years and also with
fine which shall be not less than Rs, 1000 and not more than Rs. 5000.

(C) Imprisonment for a term not less than three months and not more than one year and also with
fine which shall be not less than Rs. 500 and not more than Rs. 1000

(D) Imprisonment for a term not less than one month and not more than six months and also with
fine which shall be not less than Rs. 100 and not more than Rs. 500.

In the event of exercising any right accruing to any person by reason of abolition of “untouchability”
under Article 17 of the Constitution, which of the following act done by other person does not fall
within the scope of “boycott” under the provisions of the Protection of Civil Rights Act, 1955 ?

(A) Refusal to give a house on rent

(B) Refusal to work for hire )

(C) Refusal to give any grocery from any shop at the cheaper rate
(D) Refusal to give work as agricultural labourer

Which of the following punishment is awarded to a person if he is convicted under the provisions
of the Protection of Civil Rights Act, 1955 for third offence or any offence subsequent to the
third offence ?

(A) Imprisonment for a term not less than one year and not more than two years and also with fine
which shall be not less than Rs. 500 and not more than Rs. 1000

(B) Imprisonment for a term not less than two years and not more than three years and also with
fine which shall be not less than Rs. 1000 and not more than Rs. 3000

(C) Imprisonment for a term not less than one year and not more than three years and also with
fine which shall be not less than Rs. 3000 and not more than Rs. 5000

(D) Imprisonment for a term not less than three years and not more than five years and also with
fine which shall be not less than Rs. 5000 and not more than Rs. 10,000

Which of the following sentence is true in the event ofall the offences under the Protection of Civil

Rights Act, 1955 where the punishment is imprisonment for a minimum term exceeding three

months ?

(A) Trial of above offences shall be conducted only by the Sessions Court.

(B) Trial of above offences shall be conducted only by the Special Court,

(C) Trial of above offences shall be conducted only by the Judicial Magistrate / Metropolitan
Magistrate.

(D) High Court will order the above offences to be tried cither by the Sessions Court, Special
Court or Judicial Magistrate / Metropolitan Magistrate depending upon the gravity of the

offences.
[BGR] rro. Y
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Afn(};.}):!]r;)-n ;:ggricvcd by the imposition of a collective fine under Section 10A(1) of the Protection
of Civil Rights Act may prefer appeal within a period of ___ days before from the

‘ll;;‘; of publication of Notification under the provisions of the Protection of Civil Rights Rules,

(A) 30, Sessions Court

(B) 30, State Government or the authority specified by it
(C) 60, Special Court
(D) 90, High Court

Any person aggr.im'cd by the resolution of the Gram Sabha relating to individual Forest Rights
under the p'l()\’lsmlls of the Scheduled Tribes and other Traditional Forest Dwellers (Recognition
of Forest Rights) Act, 2006 may prefer petition before within a period of days
from the date of passing of resolution. ‘

(A) 60 days, State Level Monitoring Committee

(B) 30 days, State Government

(C) 30 days, District Collector

(D) 60 days, Sub-Divisional Level Committee

Which of the following sentence is correct in the event of any act constituting an offence under

the provisions of the Protection of Civil Rights Act, 1955 committed in relation to 2 member of a

Scheduled Caste?

(A) The Court shall presume, unless the contrary is proved, that such act was committed on the
ground of “untouchability™.

(B) The Court shall presume, unless the contrary is proved, that such act was not committed on
the ground of “untouchability™.

(C) The Court may presume, unless the contrary is proved, that such act was com mitted on the
ground of “untouchability”.

(D) The Court shall not presume that such act was committed on the ground of “untouchability™

without being proved by the victim.

Which of the following sentence is true as per the provisions of the Protection of Civil Rights
Act, 1955, when any public servant is alleged to have committed the offence of abetment of an
offence punishable under this Act, while acting in the discharge of his official duty of the State

Government ?

(A) Such public servant will be prosecute
formalities.

(B) No court shall take cognizance
of the State Government.

(C) Court shall take cognizance of such offence without previous sanction of the State Government
nee of abetment of an offence punishable under this Act,

d under the Criminal Procedure Code without doing any

of such offence of abetment except with the previous sanction

for having committed the offe

(D) No court shall take cognizanc
of a High Court of the State.

e of such offence of abetment except with the previous sanction

[BGR] rro. Bl
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198.

Which of the following sentence is true wi
s ¢ with reference to the offences i
Protection of Civil Rights Act, 1955 ? e punishable under the

(A) The provisions of the Probation of Offenders Act, 1958 shall not apply to any of the offences
punishable under this Act. ’ ‘

(B) The provisions of the Probation of Offenders Act, 1958 shall apply to the offences punishable
under this Act only if the offender is below the age of 18 years.

(C) The provisions of the Probation of Offenders Act, 1958 shall apply to any person who is below
the age of 14 years and is found guilty of having committed any offence punishable under this
Act.

(D) The provisions of the Probation of Offenders Act, 1958 shall apply to any person who is
below the age of 16 years and is found guilty of having committed any offence punishable
under this Act.

Under the Protection of Civil Rights Act, 1955, the term *civil rights’ means

(A) *civil rights’ as defined under the Universal Declaration of Human Rights, 1948.

(B) As per the definition of *Human Rights’ given under Section 2(1)(d) of the Protection of Human
Rights Act.

(C) All fundamental rights enshrined under Chapter 111 of the Constitution of India.

(D) Any right accruing to a person by reason of abolition of “untouchability™ by Article 17 of the

Constitution.

Under the Protection of Civil Rights Act, 1955, ‘Scheduled Caste’ has meaning assigned to it in
of the Constitution of India.
(A) Article 366 (24) (B) Article 265 (17) (C) Article 195 (10) (D) Article 311 (2)

In the circumstances of arrest of any person accused to have committed offence under the

Scheduled Castes and the Scheduled Tribes (Prevention of Atrocities) Act, 1989,

(A) The provisions of Section 438 of the Code of Criminal Procedure, 1973 shall apply.

(B) The provisions of Section 438 of the Code of Criminal Procedure, 1973 will be made applicable
as per the discretion of High Court of the concerned State.

(C) The provisions of Section 438 of the Code of Criminal Procedure, 1973 will be made applicable
if the accused so desires.

(D) No provisions of Section 438 of the Code of Criminal Procedure, 1973 shall be made applicable.

As per the report of Scheduled Area and Scheduled Tribes Commission in the year 1960-61, the

Scheduled Area of Gujarat was spread in sq. miles. .
(A) 5000 (B) 7000 (C) 10,000 (D) 12,000

As per the report of Scheduled A rea and Scheduled Tribes Commission, the government of Gujarat
made a proposal stating that the areas in which the population of tribal community is more than
» such area should be declared as Tribal Arca.

(A) 25 % (B) 50 % (C) 40 % (D) 60 %
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200.

201.

202,

203.

204.

205.

Which of the following function will be done by the Scrutiny Committee constituted under the

Gujarat Scheduled Castes, Scheduled Tribes and other Backward Classes (Regulation of issuance
and Verification of Caste C erfificates) Act, 2018 ?

(A) To issue the Caste Certificate to the persons belonging to Scheduled Tribes.
(B) To make verification of the Caste Certificate to the persons belonging to Scheduled Tribes
(C) If the Competent authority has issued Caste Certificate to wrong person, to impose appropriate
punishment to Competent authority.
(D) If any ineligible person wrongfully has obtained Caste Certificate by misrepresentation before
the Competent Authority, then to impose appropriate punishment to such person.

Which of the following option available to a person aggrieved by the order of the Scrutiny
Committee to forfeit and cancel the wrongly issued / obtained the Certificate of Scheduled Tribe
under the Gujarat Scheduled Castes, Scheduled Tribes and other Backward Classes (Regulation
of issuance and Verification of Caste Certificates) Act, 2018 ?

(A) The order can be challenged by appeal before the State Government.

(B) The order can be challenged by revision before the Gujarat State Scheduled Caste and
Scheduled Tribes Commission.

(C) The order can be challenged by way of filing suit before the competent Civil Court under the
Code of Civil Procedure 1908.

(D) The order can be challenged before High Court of State under Article 226 of the Constitution
of India.

Who is empowered for imposition and realization of collective fine under SC and ST (Prevention
of Atrocities) Act 1989 ?

(A) District Magistrate (B) State Government

(C) Special Court (D) High Court

Who appoints the Chairman of National Commission for Scheduled Caste ?
(A) President (B) Lok Sabha Speaker
(C) Prime Minister (D) None of the above

Offence committed by any public servant under Section 3 of the SC and ST Act, 1989, provides for
imprisonment of minimum punishment of

(A) three months jail (B) six months jail

(C) one year jail (D) None of the above

The Scheduled Caste Commission is defined in which Article of the Constitution ?

(A) Article 338 (1) Article 342

(C) Article 338A (D) Article 340

Which of the following Articles of the Constitution mentions special provisions for SCs, STs, the
backward classes and the Anglo Indians ?

(A) Article 330 1o 342A (B) Article 344 to 3524
(C) Article 350 10 352A (D) Article 360 to 362A
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Article 17 of the Indian Constitution is related with

(A) abolition of untouchability (B) abolition of titles

(C) equality before law (D) right to education

National Panchayati Raj Day is celebrated on every year,
(A) 26th January (B) 15th August

(C) 24th April (D) 2nd October

To whom the grant in aid for Panchayati Raj institutions received from the Finance Commission
has to be released ?

(A) District Panchayat (B) Panchayat Samiti
(C) Collector (D) Gram Panchayat

Objectives of Panchayat (Extension to the Scheduled Areas) Act, 1996 are :

(A) to provide self rule for the tribal |

(B) To safeguard and preserve the traditions and customs of tribal communities.
(C) To empower panchayats to tribal requirement

(D) All of the above

Under which Article of the Constitution of India, an area can be declared a ‘Scheduled Area’?
(A) Article 342 (B) Article 244 (1)
(C) Article 242 (D) All of the above

Which of the following tribal groups mainly inhabits in central part of India ?
(A) Chenchus ; (B) Mundas
(C) Gonds (D) Santhals

In which of the following States, the provision of reservation for SC in Panchayat under 73rd
Constitutional Amendment not applicable ?

(A) Nagaland ‘ ) (B) Arunachal Pradesh
(C) Mizoram (D) Meghalaya

Which Article was given effect to by the 73rd Amendment ?
(A) Article 47 (B) Article 45
(C) Article 40 (D) Article 46

Panchayati Raj System began in 1959 at
(A) Bhopal - MP (B) Nagaur — Rajasthan
(C) Nagpur — Maharashtra (D) Kheda — Gujarat

Which of the following is considered to be the aim of Panchayati Raj System ?
(A) Rural prosperity (B) Rural development
(C) Political development (D) All of the above
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. The commission on Centre=5
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(A) Part 9.A (B) Part 10 (C) Part 7 (D) Part 14

“-Iji“l‘ "“hf‘ following ministries of Government of India is the nodal ministry for Garib Kalyan
Rojear Abhiyaan launched in June, 2020 7

(A) The Ministry of Rural Development

(B) The Ministry of Jal Shakti

(C) The Ministry of Labour and Employment
(D) Nonc of the above

Which of the following statement(s) is/are correct about ‘scheduled area and the welfare of
scheduled tribe’ ? :

1. It is mentioned in Article 339 of the Constitution

2. Article 339(2) provides executive power to the Union that extend to give direction to States.
(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) None

In 1960, the President of India appointed the Scheduled Areas and Scheduled Tribes Commission.
Who was the Chairman of the Commission ?

(A) M. C. Setalvad (B) U. N. Dhebar
(C) Krishna Menon (D) K. Santhanam

In 2002, the President of India appointed the Scheduled Areas and Scheduled Tribes Commission.
Who was the Chairman of this Commission ?

(A) Dr. P. K. Patel (B) Smt. Chokila Iyer

(C) Shri Dileep Singh Bhuria (D) Shri Kunwarsingh Fulji Valvi
Which committee was appointed in 1986 for Panchayati Raj ?

(A) L. M. Singhvi Committee (B) Ashok Mchta Committee

(C) G. V. K. Rao Committee (D) None of the above

When was the first Finance Commission constituted ?
(A) 1950 (B) 1952 (C) 1953 (D) 1954

The State Finance Commission is 2
(B) Non-statutory body

(D) None of the above

(A) Legal body

(C) Constitutional body
{ate relations of 2010 was headed by :

(A) Shri Justice Madan Mohan Punchi
(B) Shri N. R, Madhava Menon

(C) Shri Vinod Duggal

(1)) None of the ubove
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225. Which of the following committee is not concerned with Panchayati Raj ?
(A) Balwant Rai Mchta Committee
(B) Santhanam Committee
(C) Ashok Mchta Committee
(D) G. V. K. Rao Committee
216.

Which one of the following distinguishes public from private administration.
(A) Public Accountability

(C) Profit

(BB) Public Finance

(D) Planning

227. The main featurc of British Administration in India was
(A) Centralized bureaucratic administration.
(B) Gradual suppression of customs by law in the management of Public Affairs.
(C) Growth of constitutionalism.

(D) Territorial adjustment of administrative units.

228. Which one of the following is not the function of the District Collector.

(A) Land Revenue (B) Maintenance of Law and Order

(C) District development functions . (D) To decide on policy matters

229. Which of the following is not a function of Gram Sabha ?

(A) Rural Health (B) Water Planning
(C) Tribal Welfare (D) Census

230. 73rd Constitutional Amendment relates to
(A) Impeachment of the President
(B) Appointment of Election Commissioner
(C) Reservation of seats in Educational Institutions
(D) Panchayati Raj System

231. Panchayati Raj System in India is laid down under

(A) Fundamental rights (B) Fundamental duties
(C) Directive Principles of State policy (D) All of the above
232. In medieval India, why was Mansabdari System introduced ?
(A) For revenue collection (B) Facilitating recruitment to the Army
(C) To establish religious harmony (D) Ensuring clear administration
233. With reference to Mughal period's revenue collection system *Zabti’ means :
(A) Estimated revenue (BB) Yield per unit area
(C) Based on yield of crops (D) 1/3rd of total yield.
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What is Jagirdari System ?
(A) System for inheriting property (B) Tax assignment

(C) Religious assignment (D) Land revenue assignment

The weakness of Kautilya's work is beeause it is

(A) Based on Greek philosophy (B) It is not empirical

(C) Relies more on scriptures (D) None of the above

In which year P.C. Hota Committee on civil service reforms was constituted ?

(A) 2003 (B) 2004

(C) 2005 (D) 2006

Which impact was exerted on status of women due to reform movements ?

(A) Widow remarriages were started (B) Child marriages were reduced.
(C) Satipratha was eliminated (D) All of the above

Which of the following is not a major matter arising out of the Green Revolution ?
(A) Increase in production and productivity (B) Labour displacement

(C) Promotion of capitalist agriculture (D) More than one of the above
The Bengal Sati Regulation Act was passed in the year ;

(A) 1829 (B) 1806 . (©)1826 (D) 1819
Who is considered as the father of Green Revolution at the world level ?

(A) Thomas Malthus (B) Norman Borlang

(C) Cecil Salman - (D) William S. Gaud

Why was second Green Revolution launched by the government ?
(A) To boost agriculture production with sustainable approach.
(B) To boost economic export.

(C) To boost tertiary sector combination. :

(D) To boost industrial production with sustainable approach.

In which of the following year did the First Amendment Act of the Constitution of India came into

force ?
(A) 1971 (B) 1951 (C) 1989 (D) 1949

occurs when thereis orderly and progressive changes in a human being due to maturation

and experience.
(A) Growth (B) Development

(C) Physical changes (D) Mental changes

Which is the institution to rehabilitate juvenile delinquency ?
(A) Juvenile courts (B) Remand homes
(C) Foster homes (D) All of the above
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245. Which is / arc the scheme introduced by the Government of India to remove unemployment ?
(A) IRDP (B) NREP
(C) MGNREGA (D) All of the above

246. In which year National Policy on older persons was enacted ?

(A) 1998 (B) 1999 (C) 2000 (D) 2001

247. Which of the following is not true with respect to NITI Aayog ?
(A) Top down approach for development (B) Cooperative Federalism

(C) Sustainable development (D) None of the above

248. National Human Rights Commission of India is a

(A) Constitutional body (B) Statutory body
(C) N.G.O. (D) None of the above

249. What is the time limit for disposal of first appeal by the first appellate authority ?
(A) 10 — 15 days (B) 30 — 45 days
(C) 50 — 65 days ; (D) None of the above

250. Which of the following plays an important role in the development of moral values in a child?
(A) Prayer meeting : (B) Socialization
(C) Intellect ' (D) All of the above

251. Check causation relationship between the two statements.
1. Dang Darbar cultural fair is held during Holi festival in the Dang region
2. In this fair, the descendants of the tribal kings of the past in the Dang region, are honoured.
(A) Both 1 and 2 are correct . (B) 1 is incorrect and 2 is correct

(C) Both 1 and 2 are incorrect (D) 1is correct and 2 is incorrect

252. Choose the correct option.
1. In Panchmahal, Chool fair is held on the second day of Holi (dhuleti)
2. In Panchmahal, on the fifth, seventh or twelfth day after Holi, ‘Gol Gadheda’ fair is held.
(A) Both 1 and 2 are incorrect. (B) 1 is incorrect and 2 is correct.

(C) Both 1 and 2 are correct. (D) 1is correct and 2 is incorrect.

253. Choose the correct option.
1. Madad dance is popular among the Kunkand tribals living in South Gujarat.

2. Tur dance is popular among the Chaudhary tribals living in South Gujarat.
(A) Both 1 and 2 are incorrect (B) 1 is incorrect and 2 is correct

(C) Both 1 and 2 are correct (D) 1 is correct and 2 is incorrect
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Match the following pairs.

A B

2. Sushir Vadya 1. Kingari

b. Ghana Vadya 2. Drum

¢. Avanadhya Vadya 3. Thali

d. Tantu Vadya 4. Tadapu
(A)a-1,b-2,¢-3,d-4 (B)ya-2,b-3,c-4,d-1
(Cya-4,b-1,c-3,d-2 (Ma-4,b-3,c-2,d-1

Select the proper option.

1. ‘Baba Ram's story” is also known as ‘Bhilodi Ramayan’

2. ‘Rom Sitmani Warta® folktale is popular as oral tradition among Nayaka tribal caste.
(A) 1is correct and 2 is incorrect

(B) 1 is incorrect and 2 is correct

(C) Both 1 and 2 are correc-t

(D) Both 1 and 2 are incorrect

Which of the following Chief Ministers recently released India's first encyclopedia on tribal
communities : '"Encyclopedia of Tribes'?

(A) Himanta Biswa Sarma (B) Naveen Patnaik

(C) Vishnudeo Sai (D) Hemant Soren

On the basis of which Article of the Constitution primitive castes, premordial communities or
tribes, are referred to as scheduled tribes ?

(A) Article 341 and 342 (1) (B) Article 354 and 355

(C) Article 340 (D) Article 14

When was tribal block formed for development of scheduled tribes ?
(A) 1961 (B) 1971
(C) 1989 (D) 1999

Match the following pairs :

A B

a. Bhil 1. Paintings of Gotraj

b. Kunkana 2. Paintings of Pasali

¢. Bhil Garasiya 3. Paintings of Bharadi
d. Chaudhary 4. Paintings of Nava
(A)a-4,b-1,c¢-3,d-2 (Bya-2,b-3,c-4,d-1
(C)a-3,b-2,c-1,d-4 Da-4,b-3,¢c-2,d-1
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Select the correct option :

1. Influence of Marathi language is scen on Kunkana dialect.

2. Kunkana dialect spoken in the Dang district, is also known as ‘Dangi’ dialect.
(A) 1 and 2 both arc correct (B) 1 is incorrect and 2 is correct

(C) Both 1 and 2 are incorrect (D) 1 is correct and 2 is incorrect

By what other names are the folk songs of Kharva known ?
(A) Khayana (B) Abavani

(C) Chheliya (D) Sarjuvani

Sclect the correct option.

1. The story of the origin of the earth is mentioned in Kanasari's Katha, popular among the tribals
of South Gujarat.

2. Kunkana Ramkatha is edited by Shri Bhagwandas Patel

(A) Both 1 and 2 are correct (B) 1 is incorrect and 2 is correct

(C) Both 1 and 2 are incorrect (D) 1 is correct and 2 is incorrect

When is Gai gohri (Cow gohri) fair held ?
(A) Kartika Sud Ekam (B) Fagan Vad Ekam
(C) Fagan Sud Poonam (D) Aso Sud Ekam

Arrange the tribal castes living in Gujarat in ascending order in terms of population and select the
correct option._

(A) Halpati, Dhodia, Padhar, Bhil (B) Bhil, Halpati, Dhodia, Padhar

(C) Dhodia, Padhar, Bhil, Halpati (D) Padhar, Dhodia, Halpati, Bhil

Select the correct option :

1. Padhar tribal women wear a coloured petticoat of eight to ten yards of length and a sleeveless
closed necked blouse.

2. Padhar tribal men wear only 10 inch cloth and wrap only one band around head.

(A) 1is correct and 2 is incorrect (B) 1 is incorrect and 2 is correct

(C) Both 1 and 2 are incorrect (D) Both 1 and 2 are correct

1. The Dubala caste people make large living man-sized dolls out of rags on Diwaso (New moon
day of the month of Ashadha) day. A hat, coat, trousers and tie are worn to this doll. A cigar or
cigarette is also inserted in the mouth. The procession of this doll goes to the river bank and then
the ‘doll’ is immersed. .

2. Bhai community of Bharuch district celebrates the day of Ashadh Sud Dasham (tenth day of the
bright-half of the waxing moon of the month of Ashadh) as the festival of Meghraja. The clay
statue of Meghraja is worshipped for ten days. On the tenth day, with that statue, Meghraja's
chhadi (rod) (procession) pass through the village and at last the statue is offered respectfully
into river or lake.

(A) 1 is correct and 2 is incorrect (B) 1 is incorrect and 2 is correct

(C) Both 1 and 2 are incorrect (D) Both 1 and 2 are correct
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Choose the correct option :
1. *Mali no Chalo” dancc is popular in Dang region.

2. Only male participate in the *“Mali no Chalo’ dance.
(A) 1is correct and 2 is incorrect

(B) 1 is incorrect and 2 is correct
(C) Both 1 and 2 are incorreet

(D) Both 1 and 2 are correct
Match the following pairs :
A

a. an ornament to wear on head

B

1. Pawaliya
b. an ornament to wear on neck 2. gujariyo

3. Kidiya or Chhid

4. Mendali
(B)a-4,b-3,c-2,d-1
(D)a-2,b-3,¢c-4,d-1

¢. an ornament to wear on hand
d. an ornament to wear on leg
(A)a-3,b-2,c-1,d-4
(C)a-4,b-2,c-3,d-1

Choose the correct option :
1. Among the Tadavi tribes living in Sankheda, Naswadi, Tilakwada, Jambugam, Dabhoi etc areas,
Timboli, Matali, Aadi Matali, Ambali Godho, Aaleni, Kudaniya etc. dances are performed.

2. Tadavi women gather at night and sing ‘Rolla’ dance songs, dancing by fastening waist band of
hands on each other's waist.

(A) 1 is correct and 2 is incorrect (B) 1'is incorrect and 2 is correct
(C) Both 1 and 2 are incorrect (D) Both 1 and 2 are correct

Match the following pairs :

A B

a. Joﬁviyo dhol (drum) - 1. While exorcising ghosts, instruments are played to sound
the bells. _ .

b. Zori dhol (drum) 2. Played to rally the community on occasion of death, fear
of enemies.

c¢. Tuhala no/Manlla no dhol (drum) 3. Played at the time of Holi or marriage function

d. Vaari dhol (drum) 4. Played at the time of bringing idols of God / Deities
(A)3'3,b-2,c—l,d-4 (B)a-S,h-4,c-1,d-2
(C)a-4,b-2,c-3,d-1 (D)a—4,b-3,c-2,d-l

Match the following :

A B

4. Dr. Navneet Fojdar 1. Samp Sabha

b. Jugatram Dave 2. Sarvodaya Parivar Trust, Dharmpur
¢. Thakkarbapa 3. Raniparaj Sevasabha

d. Govind Guru 4. Bhil Seva Mandal
(A)a-2,b-3,c-4,d-1 (B)a-3,b-d,c-1,d-2
(C)a-4,b-2,c-3,d-1 (D)a-4,b-3,¢c-2,d-1
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Select the correct statement regarding the Gamit community,

1. Gamits occasionally pray to Hadar Jodey and Anderdey as family God. They live in Palanpur,
Danta and Vadgam.

2. Marriages among the kids of maternal among Gamits and Khandhad (ghar Jamai) (Matrilocal

Pattern) can also be brought in society.
(B) 1 is incorrect and 2 is correct

(A) Both 1 and 2 are correct
(D) 1is correct and 2 is incorrect

(C) Both 1 and 2 are incorrect

Consider the following statement regarding Dhodia community.

1. In Dhodia tribals, intermediary, who manages to arrange the marriage, is known as ‘Vahtalio’
2. Among Dhodia tribals, the groom's father gets dowry from the bride's family.

(A) Both 1 and 2 are correct (B) 1 is incorrect and 2 is correct

(C) Both 1 and 2 are incorrect (D) 1 is correct and 2 is incorrect

Find the correct option about the Dhanka community.
1. There is a practice of ‘Melwado’ procession among the Dhanka tribals to cure humans and

animals from diseases.
2. The Chariot of ‘Melwado’ practice proceeds from the outskirts of one village to another, and

finally reaches Kalika Mata temple at- Pavagadh.
(B) Both 1 and 2 are incorrect

(A) 1is incorrect and 2 is correct
(D) 1 is correct and 2 is incorrect

(C) Both 1 and 2 are correct

Select the correct statements about the Bhil community.
1. In the Bhil community, deluge (destruction by water) is considered as a living character in the

popular story of the origin of the earth.
2. God-Goddess Jalunkar lord, Umiya and Shiva are incarnated from the same water.
(B) Both 1 and 2 are incorrect

(A) 1is incorrect and 2 is correct.
(D) Both 1 and 2 are correct

(C) 1 is correct and 2 is incorrect

Among the following tribes of Gujarat' which one has lowest literacy rate according to census,

20117 i
(A) Dhodia (B) Gamit
(C) Chaudhari (D) Rathwa

Among the following primitive tribes which one has lowest population according to census, 2011?
(B) Kathodi

(A) Siddi
(D) Kolgha

(C) Kotwalia
Which one of the following sequence of districts is correct from highest to lowest in proportion of

tribal population according to census, 20117
(A) Dangs, Narmada, Tapi, Dahod, Valsad
(B) Dangs, Tapi, Narmada, Dahod, Valsad
(C) Dangs, Dahod, Narmada, Tapl, Yalsad
(D) Dangs, Tapi, Dahod, Valsad, Narmada
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Which sex ratio is correct for the tribes of Gujarat according to census, 2011 ?
(A) 919 female for 1000 male (B) 921 female for 1000 male
(C) 961 female for 1000 male (D) 981 female for 1000 male

Who has classified tribals into two sections on the basis of their population ?

(A) 8. C. Dube (B) B. R, Chauhan
(C) D. N. Majumdar (D) G. S. Ghurye

Among the following who has classified tribals into four categories on the basis of cultural
perspective ?

(A) Verrier Elwin (B) N. K. Bose

(C) D. N. Majumdar ' (D) G. S. Ghurye

Which one of the following tribes is not found iﬁ Gujarat State ?

(A) Kolgha (B) Kathodi

(C) Korwa (D) Kotwalia

How much percent of Gujarat’s geographical area covers tribal sub-plan ?
(A) 17 - (B) 18

(C) 16 (D) 19

Which one of the following is not associated with the Gujarat CM’s programme of tribal
development launched on February 27, 2007 ?

(A) Qualitative and Sustainable Empowerment
(B) Safe Drinking Water for all

(C) Health forall

(D) Land for all

To generate tribal employability which one of the following cultivation is termed as ‘Green Gold’
recently by C.M. of Gujarat ?

(A) Wheat (B) Sugarcane

(C) Bamboo (D) Teak

Which one of the following is not a characteristic of tribal economy ?
(A) Primitive farming (B) Commercial farming

(C) Shifting cultivation , (D) Self sufficiency

Who among the following supported V. Elwin’s idea of national park to prevent exploitation of
tribals from non-tribal people ?

(A) A. V. Thakkar (B) Jugatram Dave

(C) Mahadev Desai, (D) Birsa Munda
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To control over forest resources il_\' local tribes who at first gave the slogan of “Jan, Jangal,
Jameen'?
(A) Ramji Gond (BB) Birsa Munda

(C) Komaram Bheem (D) Govind Guru

What is the literacy rate among the lrihlcs in India according to census, 2011 ?
(A) 58 percent (B) 59 percent
(C) 57 pereent L (D) 56 percent

Who among the following recommends that there is a need for greater gender focus and social
mobilization to encourage education among tribal girls ?

(A) Varginus Xaxa (B) D. S. Bhuria
(C) A. K. Mathur (D) B. N, Srikrishna

Which one among the following is not mainly associated with tribal indebtedness ?
(A) Land alienation : (B) Lack of job opportunity
(C) Traditional way of agriculture (D) Free social atmosphere

To improve economic condition of tribes in which year government of Gujarat has established
Tribal Development Corporation ?

(A) 1982 (B) 1992
(C) 1972 (D) 2002

What is the main cause of migration among the tribes ?
(A) Nearness with nature (B) Parochialization
(C) Lack of basic facilities and amenities (D) None of the above

Which one of the following is not traditional occupation of the tribes ?
(A) Fishing (B) Hunting
(C) Cottage industry (D) Cultivation

Which one of the following is correct for the celebration of International Day of the
Indigenous People ?

(A) 21st September (B) 8th March

(C) 9th August (D) 3rd December

Who has worked for the promotion of education among the tribes of Gujarat ?
(A) Vallabhbhai Patel (B) Umashankar Joshi
(C) Jugatram Dave (D) Nurhari Parikh

‘Nahari’ with reference to Gujarat stands for...
(A) Tribal food (B3) Tribal dance

(C) Tribal dress (D) Tribal religion
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Wha is the author of the hook “Tribes of Gujarat” ?
(A) Vidyut Joshi (B) T.B. Naik
(C) Musta Ali Masvi (D) Ashwin B. Brahmbhatt

With respect to social group PV'Ts stands for...
(A) Periodic Vulnerable Tribal Groups

(B) Periodic Various Tribal Groups

(C) Particularly Vulnerable Tribal Groups
(D) Particularly Various Tribal Groups

Where is Tribal Research and Training Institute situated in Gujarat ?
(A) VNSG University, Surat

(B) S. P. University, Vidyanagar

(C) Gujarat Vidyapith, Ahmedabad

(D) M. K. Bhavnagar University, Bhavnagar
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